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statements, oneé is

ther as

Given below are two
labelled as Assertion (A) and the o

Reason (R).
Assertion (A) : Th
is desert and semi-desert.:. !
Reason (R) : Northern Austr
in the temperate zone.

i3
Select the correct answer from the code
given below ! .

Code :
" (a) Both (A)
not the co
(b) (A)is false, b
(c) (A)is true, bu
(d) Both (A) and (R)
correct explanation of (A)

e interior part of Australia

and (R) are true, but (R) is
rrect explanation of (A)
ut (R) is true

t (R) is false.

2. Given below are two statements, oneis labelled
as Assertion (A) and the other as Reason (R).

Assertion (A) : India is the second largest
mobile gaming market in the world.

Reason (R) : There are more than 950 million
internet users in India.

Select the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A)is false, but (R) is true

(c) (A) is true, but (R) is falses

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

1 et

b
R

3. Given below are two stateméiifs, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A) : Babur wrote Tuzk-e-Babri in
Chagatai Turki. Y
Reason (R) : Turki was theofﬁc;a.l lan
of the Mughal Court. ' g
Select i
: 21 st:v ::he correct answer from the code given
Code : o
(a) Both (A) and (R) are tfué, but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are trie and (R) is the
correct explanation of (A)

alia is situated !
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4. Match List — I with List — II and choose
the correct answer by usmg the code

given below the lists. N
oR{O List - I List - IT
"E“ﬁg (Coal Field) (Country)

A. Appalachian 1. England

B. Lancashire 2. Gei‘i;hany

C. Ruhr 3. Russia

D. Kuzbass 4. United States of

America

Code : .

A B C D g

@4 1 2 3 B

b1 4 3 2 |

01 4 2 3 _4

5. With reference to ‘Ecosystem’, which of the
following statements is/are correct ?

1. Green plants in terrestrial ecosystem
capture about 1% of energy of the
sunlight that falls on thelr leaves.

2. Around 10% of organic matter reaches
to the next higher level' of consumers.

given below :
Code :

'(a) Only 2

(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 1
6. Which of the following events took place in the
year 1911 ? o
1. Partition of Bengal revoked
2. Transfer of capital from Calcutta to Delhi
[MEE 3. Lucknow pact between Congress and

|
|

S pa———
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4. T — 1 T - 114 gt i o gt 3
1R fow e %2 0 i e wR v gfi |
T -1 g - 11
(rren i) (@)
A. IaifirE 1. sl
B. SHMIR 2. s
C. & 3. &4
D. Fwam 4. WYFI T STAFHT
e
A B CD
@4 1.2 3
b)1 4 3 2
©01 4 2 3
@4 1 3 2

TRfRifR 5’ 3 il #, Pt & |

SH-T1/3 w7 T 2/E 7 -

1. R MY, werclid TR 3 ot R |

R TS el T A A9 e 194 st

%l T T B |
2. T 10% Hrees gerd Iusiiarat
T I TR T TE 2 |
A1 R e %z & wd 3w g
Fe:
(a) e 2
(c) 13 23t

(b) I 17 2
(d) e 1

- Pl § & F-2h et ad 1911 Hafea & ¢

1. STE 1 faOweE T
2. TYH! 1 Herehar ¥ feeelt yiad
3. il 71 qfeam i F = wETs T

t.j Muslim League ﬁﬁqmﬁﬂﬁﬁwt{ﬁq:
Select the correct answer from the code %2
il:;z below : ";‘- (a) 132
(a) 1and 2 N (b) e 3
(b) Only 3 o (c) 23R 3
(c) 2and 3 = (d) e 1
(@) Only1 e i D U

e S e i



https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

GET IT ON

Google Play

|| ;{g ClZU-1 - 23
I| e ] e e B e ) B i i e e e s
e . e e . e st s o, | . ——
!' 7. Consider the following eve.nts and arrange | 7. Eiiien ':Tgtﬂaﬂlq{ Hifire wen 3 s
them in correct chronologlf:eﬂ order. : myg;q # srafem B |
1. Poona Pact e : | 1. I HEgitar
| 2. End of Civil Disobedience Movement | EiE 2 aRET 31 R leE E gy
3. Gandhi-Irwin Pact & i ,ﬁ.% 3. wit-zff augiar
4. Second Round Table Conference d |l =]/ 4, fedta Mo o9 e
Select the correct answer from the code | et fou e e & e 3w gfie
given below : . i Fe:
: |
a y Ty S ye )
(© 4,3,2,1 dd) 3,4, 1,2 ! (c) 4,3,2,1 (d) 3,4,1,2
i i_
- 8. Wra = feufa faré 2023 % @R, 30 e ¥
‘. . er the India State of Forest Report 2023, | ’ y
. 5 iilli)ch of the following districts in Littar ’f fferfaa # & fom et 3 o7 Fat e 5
Pradesh had forest over more than 20% of i 00% & 3IF WaT & 7
____ their total area ? - } 1. SET
ElE 1. Bahraich 5
i 2. Chandauli
ols 3. Shravasti i 3. e
Select the correct answer from the code #9 few o He § wE IW g
given below : He:
Code : 3t 2 b) ¥ 3
(a) 1and 2 «(b) Only,3 (a) 1 o :d; ;
(c) 2and 3 (d) Only 1 () 2 Had
9. Which of the following pairs is/are correctly | 9. fmffam gmi § & wi-w/3 w8t gifcia
matched ? e g2 7
(Coal Producing -/(State) (I IEH 1) (T=3)
Aves) T - 3T
" 1. Maolong - Arunachal Pradesh 1. : _ .
2. Raniganj —  West Bengal 2. T qfe ‘""’“EE]’ -
| 3. Ramgarh - Jharkhand 3. g - §REE ‘_ﬁ
4. Talcher - Odisha 4. AT - anfem e
Select the correct answer from the code I :
given below : s | %%ﬁfq T FE § HEl LG
Code : ™) i H s
(@) Onlyland2 (b) Only2 3and4 | (a) ¥awt 132 (b) FIE2,3
(c) Only 1,2 and 3 (d) Only'1 | () ¥ae 1,23 3 (d) ¥« 1
10. With reference to ‘Delhi Government’s 10. ‘feect! TR F F-SFAeR W@ o FEF

Bio-decomposer and Spray Programme’, i
which of the following statements is/are
correct ? :
- 1. The Bio-decomposer solution is
! provided free of cost to farmers to help
convert stubble into manure, -

2. The Bio-decomposer solution is i
prepared using a mix of several fungi. |
Select the correct answer using the code |
given below : e r
I

|

|

Code :
() Only 2 b) Neither 1 nor 2
c) Both 1 and 2¢ (d) Only 1-

|

14

s 3 P & -/ 7 4R

1. T B e § e i e ¥ e FEE
TSR qﬁagaaﬁmwmmm%'

. - e 5 e 1 I
s R )

Fra fow e F2 @ TR I AT :

he
(a) e 2 (b) T 1TE 2
(c) 1 323
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11. With reference to creation of new All India 2
Service, which of the following statements
is/are correct ?

1. In the national interest, the Rajya
Sabha can pass a resolution for
creation of new All India Service.

The resolution for creation of new All

India Service must be passed by the

R Rajya Sabha by two-third majority of

Ei‘q’@ the total members of the house.

24
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Select the correct answer from the code
given below :
Code :

(a) Only 2¢ (b) Neither 1"nor 2

(c) Bothland2 (d) Only1 .

12. Match List — I with List — II and select the 12,
Ezgect answer using the code glven below the
List -1 List-1I
(Disciple) (Guru)
A. Kabir 1. Guru Nanak Dev
B. Amir 2. Swami Ramananda
Khusrau s

C. Surdas 3. Nizamuddin Auliya

D. Mardana 4. Vallabhacharya

Code : _

A B C D

@3 2 4 1
(b) 3 2 1 4

@2 3 4 1 §
d2 3 1 4.

13. Given below are two statements, one is 15.

labelled as Assertion (A) and the ot.her as
Reason (R). )
Assertion (A) : Investment in human capital
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Google Play
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HH-TT/8 o T R/E 7
1. T fea #, U= 7€ afEe wRd &
T T TEATT IR R Gehdl © |
2. 73 3flged wiedta da1 s 1 T
T 1 8 e 9§ & g1-faars

TEAA & TTRG BT AT @ |

He:

(a) Had 2 (b) A 198 2

(c) 13 23gHi (d) Fae 1

gt - 19 gt - 01§ gafera i aon gieai &

e feu e e @ WM a wE I g |
gt -1 o -n [EEE
(forea) (%) 75

A. FER 1. & A <F

B. 3R gEd 2. @il Taes

C. Fe™ 3. Tromem sffern

D. #gHI 4. gearar

e
A B C D

@) 3@ 4 1

k)3 2 1 4

(c) 2 muiSem 4w 1

@2 3 1 4

H= @ T feg o E, ﬁ?ﬁ‘é@ﬁ»ﬁaﬁmﬂq(m
T AR N B (R) a1 T |
v (A) : 7Fa Fh R & wfivs § wm

yields returns in the future. E EI e & |

Reason (R) : Education and health make B o (R) : fren ot @ @t = aﬂ%‘_zq;
people more productive. IEH 914 2 |

Select the correct answer from the’ code EIER R TR G (1

given below : P : Fe:

Code :

(a) Both (A) and (R) are true, but (R] is
not the correct explanation of (A)«

(b) (A) is false, but (R) is true

(c) (A)is true, but (R) is false

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

() (A) 3 (R) Gl vt €, frg (R), (A) it &
T T8 T &

(b) (A) e ?, fohg (R) Wél R

(c) (A) &l R, forg (R) TTeTd @

(d) (A) 3 (R) 31 @&t € 3 (R), (A) I =&
TAT T &
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; 14 Match List - I w1th LISt & II and choose the ’ 1 4. Q?ﬁ e ?&“——I}-é gfrf%;??i_ﬁﬁm 3 yﬁﬁ
| correct answer using the code gwen below I & = 3 ¢ e w1 yEm wad s g
i
| the lists. g g H\?ﬁ-— I gt - 11
| List -1 List - If— , : (ufteror viTen) ()
Refine State)- '/
( ) (Statel~ ; AT g L T
A. Nayara 1. Assam i Tl
| B. FATed! Eu‘qf 2. T
B. Manali 2. Gujarat | . e
| C. ﬂqu“’lG_ . AT™
C. Numaligarh 3. Andhra Pradcsh 'l
BGIEIED 9. HIEI(-'H@
D. Tatipaka 4. Tamil Nadu ! B ‘
Code : P ! ®e:
e c D
A B C D ¢ ,’ s
o ¢ 2o -Be i £ | @4 2 3 1
b2 4 1 3 b2 4 1 3
2 4 3 1 2 4 3 1
@4 2 1 3 CHRCSURE RS
N2
15. Which of the following is/are NOT a 15. frefofaa & & SH-91/8 @ra & o1 AEH
dimension of food security ? T 2/e ?
. 1. Availability O 1. IgcAsHdl
b _a-?- 2. Accessibility - 2. Ugd
3. Affordability e 3. g
S4.l Acc;untabxhtgq . il 4. SaTEeEl
t the correct answer from o
'CBC € IT :ﬂ%ﬁq‘l‘i‘qﬁ@lﬂ‘ﬁﬁwgﬁﬁ:
given below : N J
Code : - - -': t e
(a) 1and?2 (b) Only 4+ } (a) 13 2 (b). e 4
() 2,3and4 (@ Only 1- | (c) 2,334 (d) % 1
|
r"ﬁ_; | el i - ‘ :
16. With reference to Silver articles’, which of : 16, ‘T TG ¥ g o, Frforfea @ 7
the following statements is/are correct 7 | PH-|1/8 HUT @ R/d 7
1. Silver e:lrticles turn black after some I} 1. |tdl i aEqd g ¥ G # A W T
time when exposed to air, x
M) ok0] et B ST
2. It happens due to coating I[of silver = 1‘% SR @ ' l.
sulphide. I ; | [=] 0. g fyeat GeHEE £ FAFET F FRO A B |
Select the correct answer from the code l i R R LU T ¥ Hal IW ﬂﬁq :
given below : ' Il .
Code : : | kS 2 A
¥ (a) Only 2 (b) Neither 1 nor 2 I (a) S 2 (b, o 1 e
4 (c) Both 1 and 2 (d) Only 1+ { (©) 13K 28A (d) et 1
____________________________________ D e e e e e e e e e s o
161
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"7, Match List - 1 with List - Il and select the | 17, &= - 11 5= - 11 2 gfer i 7 g %
qt:f:rrfct answer using the code given below | 9 e FC H TGN L el I gﬁu
e lists : |
. -1 T - 11
List - I List - II | [E]3% (=] T
(Mission) (Date of Launch) I "%ﬁ (forgm) (st faf2r)
A. Chandrayaan-3 1. 02 September : (=l A I5IH -3 1. 02 faamr 2023
2023 B. 3mf¢ed L1 2. 17 w@l 2024
. { . '
B. Aditya L1 St ) SECC C. INSAT-3DS 3. 14 9 2023
C. INSAT - 3DS 3. 14 July 2023 | D. RLV-LEX-01 4. 02 3 2023
D. RLV-LEX-01 4. 02 April 2023 | e
Code : . = A B C D
A B C D |
() 1 3 4 2 | [:} ; ? ; i
3 1 2 a ! (b)
(c) 3 1 4 2o i (c) 3 1 4 2
1 3 2 4 : d1 3 2 4
: | 5
18. Match List — I with List - Il and choose the | 18. Tl - 11 T - 11 & gafea Fiforg 3t g
correct answer using the code given below % A few M Fe Y H&l IW gﬁ‘q I
the lists.
v List - II T -1 qg& nﬁ |
e (State) (Number. of seats () (e | 4 Wit <6 we) :
e in Rajya Sabha) A. TENT 1. i |
A. Maharashtra 1. 16 B. e 2. 18 DR
B. Karnataka 2. 18 c. faEr 3. 19 i
C. Bihar 3. 19 D. aftrerTg 4. 12
D. Tamil Nadu 4. 12 e
Code : A B C D
A B C D
@2 1 3 4 - ..
b 2 4 3 1 k)2 4 3 1
€1 2 4 3 ghll 2 "8 &
d3 4 1 2 d3 4 1 2
19. Given below are two statements, one is 19. = § %9 few €, 58 & v F arfirse (A)

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Poverty line differs across

time and countries.

Reason (R) : The basic needs of people vary

across regions and overtime.

Select the correct answer from the code

given below : p—

Code :

(a) Both (A) and (R) are true,! but (R) 1§
not the correct explanation of a)°

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true and (R} is the
correct explanation of (A)

qAT T T FHR (R) Hel T 2 |

sifteraa (A) : Felaen @ a3k 3 &

3y = Bt 2

AT (R) : ST ol JeAyd STEwIRard amt 3k

g % I7ER e Bl 2 |

Hr=r ey e e & v 3w g ]

Fe: ]

(a) (A) 3R (R) THI &1 2, 5 (R), (A) 1 w&
R TE T 8

(b) (A) T B, foFeg (R) w6 B

(©) (A) 5@ 2, fFg (R) ea 2

(d) (A) 3 (R) AT Wt & 3 (R), (A) h @@
mm%
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20. With reference to Sahitya Akademi Yuva

21.

=k (]

[

22,

23.

Puraskar announced in June 2025, which

of the following statements is/are correct ? |

1. Yuva Puraskar was announced in
23 Indian languages.

2. There is no Yuva Puraskar in Dogri
this year.

Select the correct answer from the code

given below :

Code :

(@) Only 2 (b) Neither 1 nor 2

(c) Both 1and2 (d) Only 1

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R). :

Assertion (A) : In the Himalayan mountains

different types of vegetation are found.

Reason (R) : In Himalayas, there are variations

in climate with change in altitude.

Select the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true ‘=

(c) (A) is true, but (R) is false | '

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A) « C

With reference to ‘Carrying Capacity of

Environment’, which of the following

statements is/are correct ?

1. The rate of resource extraction should
remain above the rate of resource

generation. .
9. Generation of waste should remain within

the absorption capacity of environment.
Select the correct answer from.the code
given below : A
Code :
(a) Only 2«
(c) Both 1 and 2

(b) Neither 1,nor 2
(d) Only 1

Which of the following pairs is/are NOT

correctly matched ?

(Tribe) (Habitat)
1. Bushman - Kalahari Desert
2. Eskimo -  Northern Canada
3. Pygmy — Congo Basin
4. Masai - West Africa.

Select the correct answer from the code
given below : 0
Code :

(a) Only 1,2 and 3 (b) Only 4

(c) Only3and4 (d) Only 1

|
i
|
|
|
!
|
f
|
i
|
I
.i

|

I

|

|

|
|
r
i
i
i

20.

Elé’-_lzl
ofg

21.

22,

23.

[=5 =]
S
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< 2035 % st et s g e
%, freffed 3 & FH-1/8 %9 5 2/2 7
& Egﬁr{ 23 ¥R qmia § =g 5
[
2. 39 =4 STl # 1§ a1 FEHT T 2 |

1 fou e e & HE IW I :

He

(a) Had 2 (b) A1 17712

(c) 13 2gH (d) Fae 1

3 2 o fou e B Forri w o Al (A) T
@ P H (R) FE T E |

iftrerer (A) : femrera wda A fafi= sem
et areft St 2 |

Ol (R) : Feorer # S & A Sy |
fir=ramd 2 |

1 fg g e & W@ I AT :

%e

(@) (A) 3t (R) 3 @@ €, B (R), (A) 1 &
STEAT 8l il

(b) (A) e 2, fopeg (R) W1 2

() (A) & 2, Frg (R) Terd 2

(d) (4) 3 (R) 3 7 & 3f (R), (A) F1
S T B

e <6 A aar % g § et 7 4

H-a1/8 o E B/E 7

1. e Fremdu 61 X, HETEH g S X
wfers @Al T1feT |

0. Fafire 1 I, wATa il AT
T 3 e T Il |

T

(a) e 2 b) AW 1A 2

() 13 23H (d) a1

ﬁm%‘f@ﬂﬁﬁaﬁn—m/ﬁguaﬁgﬁﬁ-ﬁ?ﬁ%fﬁ?
(SwTTd) (3T &)

1. g - HICTEH AEed

0. ufeEml - Ial HAE

3. fomfi - e

4. WS - of7an R

A3 oy o 2 & T I :

2
(a) e 1,233 (b) T4
() ¥ aahs () 91
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24. Which of the followmg pa.lrs of Part of
Indian Constitution and its subject
is/are NOT correctly matched ?

1. Part VA - Fundamental Duties
2. Part VI - The States™
3. Part XI -

The Mumfnpahtles

Select the correct answer from the code
given below :

Code :
(a) 1and 2 (b) Only 3,
(c) 2and 3 (d) Only 1

25.
them in correct chronologu:al order
1. Pabna
2. Indigo
3. Kuka ’ -'_;_-',
4. Sanyasi

Select the correct answer from the code
given below :

Code :
(@) 4,3,2,1 (b) 3,4,1,2
() 3,4,2,1

(d) 4,2,3,1
26. Consider the following wars and arrange
them in correct chronological order.

1. First Anglo-Mysore War "~

2. Second Anglo-French War

3. First Anglo-Sikh War

4. First Anglo-Afghan War
Select the correct answer froi'fi the code
given below : i

Code : i
@ 2,1,4,3 (b) 1,23, 4
() 1,2,4,3 d 2,1,3,4

27. The Gobi Desert is spread across which of
the following countries ?
; 1. Mongolia o
E". Bl 5. China <
O] qg 3. Russia '
4. Kazakhstan
Select the correct answer from the code
given below :
Code :
(a) Only 1 and 2 &®) Only 1, 2 and 4
(c) Only 1,2 and 3 (d) Only 1

——— e

Consider the following revolts and arrange |
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24, SR GRITH 3 T 39 3w A
Frafafas 3§ @ S9-w1/8 3w o gifa =&

i
|
|
5 2/3 7
: 1. MIVA - Hifes ded
i 2. 9MVI - TH
E 3. M XI —  TRUTfTeRTd
} 1 fw e e @ e s gh
i e
| (a) 132 (b) aet 3
: (c) 23 3 (d) Haet 1
[
| 25 Frefalaa fge w fem S o 3 v
: HICTHATIER 5hH § =Hafeyd SHIf |
| e 1. TEAT
i E?E 2. &
| BN 3 g
4, gt
H T TR & T Iw g ;
He:
(@) 4,3,2,1 (b) 3,4,1,2
(c) 3,4,2,1 (d) 4,2,3,1
26. F=fafes g8 w e Hifve @@ =2 5@
HICEHATTER 7§ =aftua i |
1. W Uell-Rq Ig _
2. e Gell-widielt 35 EE‘
3. wuw tell-fira I8 [=17:
4. TUY TSAl-THTH TG
| T2
@ 2,1,4,3 b) 1,2,3,4
(€ 1,2,4,3 @ 2,1,3,4
27. T T Feffed § &SR-S i A v ® 7
1. wfern
2. dH
3. &4
4, FHAGEH
f fo e R @ W Iw g
Fe:
(@) FaA 132 (b) Haw 1,23 4

(c)ﬁtﬂ 23?113 (d) e 1
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28. Whach of the following two are the major

29.

P S P S . e A e e e e S R, . . . s ]

25, Pt 7 @ w9 41, i % TG T 7

CIZU-1 - 23

——

i
constituent of Bio-gas ? : 1. fade
1. Methane ' - % -
2. Butane i ga?i@
3. Carbon dioxide ' 3. T SEATEE  [u]
4. Carbon monoxide : 4, T FHIAFIES
Select the correct answer from the'code I = fgg Mg $hd T el IW gﬁq :
given below : ' i He:
Code : m)lﬁks
(@) 1and3 b) 3 3f4
(b) 3 and 4 i
(c) 2and 3 P } (c) 233
(d) 1and 24 - d) 132

‘Adi Karmyogi Beta Version — A Responsive
Governance Initiative’ was launched by which
of the following ministry in June 2025 ?

1. Ministry of AYUSH

29.

S 2025 ‘31T A efier HEh ~ T e
e g’ 1 guny Frefafea § @ fea e
gra fope w2
1. 39 HAE

[E=E 2. Ministry of Women and Child
'E' '__. Development ) 0. Hfger wd 91 fawE AT
3. Ministry of Social Justice and 3. R = 3R STERE T
Empowerment .
4. Ministry of Tribal Affairs ) 4. SAAE FE HEAE
Select the correct answer from the ‘code Eic) fé:q T % o ggl IW '3'!'?111 :
given below : i e
?‘;d;;l _— (a) Fa 1 3T 2
a y 1 an
(b) Only 4 - (b) ad 4
(c) Only 2 and 3 | (c) Fae 2 3K 3
(d) Only 1 [ (d) a1

30.

Arrange the following conquests of Alauddin
Khalji in correct chronological ‘'order and
select the correct answer frorn the code

30.

SeTse Raerst &1 Prafafaa fasai =t e
mmﬁaﬁﬁﬁﬁuwﬁﬁqm
Fe & Td 3T H A |

gllve; below. e 1 I
. Ranthambore xe?‘
2. Jaisalmer = El.‘-'-i 2 Iﬁ'ﬂﬂﬂ'{
3. Warangal iﬁ: S HIe
4. Chittor 4, fudts
Code : P e
(@ 1,2, 3,40 (@ 1,2,3,4
(b) 2,1, 4,3 ®) 2,1,4,3
(©) 2,1,3,4 (c) 2,1,3,4
d 1,2,4,3 | [d]1243
ot e o i s s st e et i e s e
110
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(c) Both1and2 (d) Only 1

.l k3
<
'31. With reference to hydroelectricity in North ! 31,
India, which of the following statements
is/are correct ? ‘

1. There are huge possibilities of I
hydroelectricity in the Himalayan !
region. o '-

2. Eastern Uttar Pradesh and Bihar 1
cannot utilise this potential because |
the Himalayas situated to their North |
lies in boundary of Nepal. -, {

Select the correct answer from the code |

given below : & '

Code : =

(a) Only 2 b) Neither 1 nor 2« |

(c) Both 1 and 2 id] Only 1 |

32. Which of the following districts.is/are i 32.
part of the Devipatan Division in; ‘

Uttar Pradesh ? T~ 1

1. Basti g |
2. Bahraich O !
3. Balrampur £X) |

Select the correct answer from the code

given below ;

Code :

(@) Onlyland2 (b) Only 3
(c) Only2and3s (d) Only 1. -

33. Consider the formation of the:following 33
States of India and arrange them in correct
chronological order starting from the
earliest to the last. Wi

1. Punjab T
2. Arunachal Pradesh EI'E":EI"'E
3. Nagaland Erﬁzé
4. Sikkim
Select the correct answer from the code |
given below : A l
Code : |
(a) 3,2,4, 1. (b) 3,4, 1;2 }
() 3,1,4,2 @ 2,3,4,1 |
N8 i

34. With reference to 'Uttar Pradesh’, which of | 34.
the following statements is/are correct ? %
1. Uttar Pradesh is the leading producer |

of potato in the country. |

2. Government of India has approved for :

EEE establishment of South Asia Regional |
T Centre of International Potato Centre |
= at Aligarh. n :

Select the correct answer from the code |

given below : f

Code : i ,

(a) Only 2 (b) Neither™1 nor 2 i

i
i

111}
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IW WA ° 9 forgga % weol #, fr=fafaa o 4

HH-TT/A FHUT TE R/2 7
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2. Tl I WEw 3R fagR 39 mar &1 3w
T8l T Heha HiTh T I o fRra fearer
Juret Y o o Frar R |
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ETE

(a) et 2

(c) 13k 2 Mt

(b) A 178 2
(d) wae 1

frafofas % @ sh-m/3 e s wew |
T s et o fewmm 22 7

o
1. =&t Eﬁ%ﬁ
2. RS
3. S
H fow o e & T I g
e :
(a) %o 132 (b) aeT 3
(c) F@ 233 (d) ¥ 1 |
. W@ % FEfafgd T % 18 v e fife
T §7e 999 Yeet ¥ S s a6 % agl
HICHHITTHR 30 1 safen $ifvg |
1. Yo
2. TN WeW
3. ARTAS
4, fofasm
ﬁﬁqmﬂ@ﬁaﬁﬁmgﬁq:
BT
(a) 3,2, 4,1 (b) 3,4, 1,2
(€ 3,1,4,2 d 2,3,4,1
I I T # Frerferfien § & |-w/a
Fo TE /R 7 |
1. I W, 3 F 316 1 3Rt Ieares ¢ | '
2. W FOHN 3 ARG H SIS aine] g
zgﬁmqﬁm%hﬁmaﬁﬁqﬁ
|
et few MY e & W 3w gh
T
(a) a2 (b) &1 2
(c) 1 3t 2emt (d) a1
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35. Arrange the following States of India in the !

36.

EEE

ascending order on the basis of their area
and select the correct answer from the code
given below. '

1. Haryana ' :

2. Himachal Pradesh ey

3. Punjab =

4. Uttarakhand

Given below are two statements, one is

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Generally an alloy of lead and

tin is used as a material of the fuse wire.

Reason (R) : Alloy of lead and tin has

a higher melting point than copper and

aluminium. i

Select the correct answer from the code

given below : 0D

Code : .

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true

(c) (A)is true, but (R) is falses

(d) Both (A) and (R) are true;and (R) is the
correct explanation of (A)

Match List — I with List — I and select the

i
i

37.

35, WA % Frefefad T B 3T Swet % o

37.

correct answer from the code given below

the lists. —h
List -1 List - II
(State) (Highest Peak)

A. Tamil Nadu 1. Dhupgarh

B. Rajasthan 2. Doddabetta

C. Nagaland 3. Gll.u'u Shikhar

D. Madhya 4. Saramati
Pradesh ™

Code : @
A B C D AAd

@2 3 1 4

)3 2 4 1

(c) 3 2 1 4

d2 3 4 1

GET IT ON
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CIZU-1- 23

T S wE # st Hif a4 foom
% | wel I gAY |

A S e fyw e &, R & e i AR (A)

T AR Y BT (R) FE L |

aftreer (A) : GHTa: Hiar qut feq 6

firgr vt 1 WA g AR 9 % w9 A fRam
S |

o1 (R) : e 3 fe <t fag a1g 1 e
de a ¥ e A 3ifue g 2. |

H= faw T ge & T IW G :

E -

(@) (A) 3t (R) 2 7@ €, Frg (R), (A) 1 &
STET 81 T &

(b) (A) e B, fhd (R) 9E1 @

(©) (A) @& 2, fheg (R) 7T @

(d) (A) 3 (R) 3 7 & 3 (R), (A) F T
=TT HT ©

gt - 1 g - 1 ghfer s e gt

¥ i3 fow e e § wE I AT |
gt -1 , g - 11
(T=a) (w=a S =)
A, afrerrg 1. goTE
B. TSRH 2. SERRa E%@
C. TmmeiE 3. 1% Rra Gl
D. A& W 4. QRMT
T
A B C D
@2 3 1 4
)3 2 4 1
©3 2 1 4
@2 3 4 1
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38. Operation Brahma was launched by India | 38.

in March 2025 to provide humanitarian aid |
to which of the follcmnng countnes ?
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o 2025 1 WT 3 SR Fan FefaRed | 3
fora <o =1 e e e w6 % fou g

|
1. Bangladesh E P o 7
anglades i Eﬁ
2. Myanmar L) } s . rﬁ
3. Sri Lanka L) I 2. HHIIT{
4. Malaysia | 3. Hicr
Select the correct answer from the code 1 4. T
given below : i H= U e e & T s ghn
Code : N 5 E T
(a) Only 24 (b) ‘Only 2 and 4 i (2) Faw 2 (b) et 2 3k 4
() Only 1and3  (d) Only 1 ' (€ %9 133 (d) F5@ 1
39. With reference to Municipalities, which of 39. Tmutferen & Hed ¥ freforfiaa # & AH-w/8 w5
the following statements is/are correct ? i T B8 ?
1. The t?lilgible age to be a member of 1. Tt gee o3 % forw ardan amg
municipality is 25 years.® 25T |
EuE > ?n;ﬂf';lilrddoé ﬂzﬁ tiialiﬁut‘%‘:le: °tfhseat3 2. TR & HE gAE F AW A P ]
X o ed by direct election in the . e R .
Ol municipalities is reserved for women. %TQ[ a%-[ ol s At % ]
Select the correct answer from the code WA Bl
given below : “ﬂ; fier fo T ez & = s gf
Code : e .
(a) Both 1and2  (b) Neither 1 nor 2 () 13M22[ () AA1T@2
(c) Only 2 » (d) Only 1 (c) haa 2 (d) sad 1
40. Match List - with List - I and select the 40. F - 1t gl - & gafe Hifvre @ git %
:g;rsz;csanswer using the code given below Bt ﬁ‘ﬂ ™ E 1 T W FE IR T |
i
List - I CList-qn | B Tl -1
(Governor ,(_Iifnportant § @?,. (naﬁwma/ (vEequt ArTem /)
General/Viceroy) contribution/work) :
A. Lord 1. Permanent i ;
Dalhousie settlement of Bengal | A. Fﬂg ger@l LS ) e
B. Lord Curzon 2. Prohibition of { B. W€ FoH 2. Tdt v %1 iy
Feaclioiat Sai ‘ C. o fafemm 3. e B ferere
C. Lord William 3. Partition of Bengal : gl
Bentinck hY | e .
D. Lord 4. Doctrine of Lapse | D. W HEAE 4. ST 1 fagia
Comnwallis I : 2
Code : S I-:__‘_l : A B C D
A B " - i i @4 3 1 2
@4 3 1 b } b3 4 2 1
k)3 4 2 1 | ©3 4 1 2
3 4 1 2 i @4 3 2 1
@4 3 2 1w

113}
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41

42,

£
S 2

43.

44,

k-

5

Consider the following events and arrange
them in correct chronological order.

1. Cripps Mission

2. Cabinet Mission pli

3. Shimla Conference

4. Wavell Plan '

Select the correct answer from the code
given below : 1™

Code : (7
(El] Il 4: 3: 2 [b] ] 1’ 2: 3
(C] 4’ 1- 3? 2 (d) ’ 41 2: 33

With reference to Public Accounts
Committee, which of the following
statements is/are correct ? =~

1. Public Accounts Comm1ttee submits
its report to the Lok Sabha.

Public Accounts Committee consists
of 15 members from Rajya Sabha.
Select the correct answer from the code
given below :

Code :
(a) Both1and 2 (b) Neither 1 nor 2
(c) Only 2 (d) Only 1

|
Which of the following gas ses 'is/are
lighter than air ? e
1. Hydrogen chloride ",“.:'I
2. Sulfur dioxide ':'.J;.:'_
3. Helium
Select the correct answer from the code
given below :
Code :
(a) 1and 2
(c) 2 and 3

(b) Only 3«

(d) Only-l

With reference to ‘Atal T‘unnel’ Wh.lCh of the

following statements is/are correct ?

1. This tunnel is the world’s longest
highway tunnel. -

2. This tunnel is built in the Pir Panjal
range of Himalayas.

Select the correct answer from the code

given below : i

Code :

(a) Only 2.

(b) Neither 1 nor 2

(c) Both 1 and 2

(d) Only 1

:
{
|
i
!
|
|
|
|
|
|
l
|
|
[
i
|
|
i
|
i
i
[
|
|
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41. ﬁw%fﬁammmﬁanaﬁmwﬁ@

FHITHAHER 9 § Zafeya Hifdg |

1. frm fimm

2. Ffeme e

3. famen oorew

4, a9 AT

i fau U e | wE I g

He

{a)’ 1, 4,8,2 (b) 4,1,2,3
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43, Frafafa 1§ & -9 79 g F g 8/8 7
1. BIESNH FAES e
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3. diferam ol
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E T
(@) 132 (b) ae 3
(c) 2313 (d) e 1
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FETER/E 7
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"45. With reference to ‘ozone layer’, which of the !
following statements is/are correct ? |

1. Ozone layer shields the surface of the :
earth from the ultra- molet radiations |

from the sun. '[

2. Ozone depletion has begn linked to !

the chlorofluorocarbons.”, :

]

i

1

Select the correct answer from the code
given below :
Code :

(a) Only 2

(b) Neither 1 nor 2
(c) Both1and2a

() Only'1
) A i
46. Which of the following countries is/are NOT |
a member of the Gulf Cmperatlon Council ?
1. Bahrain
2. Iran

3. Iraq

4. Qatar .

Select the correct answer from the code
given below :

Code :
(a) 2 and 3 (b) 3 and 4
(c) Only 3 (d) Only =

47. Given below are two statements, one is
labelled as Assertion (A) and._the other as
Reason (R). 3 I

___ Assertion (A) : Public Interest Litigation in |

E‘_ [ India is essential for the rul_e of law.

O] Reason (R) : Public Inte_ifést Litigation
provides effective access of Justice to socially !
and economically weaker sections.
Select the correct answer from the code |
given below :

Code : ‘

(a) Both (A) and (R) are true, but (R) is
not the correct expla.nat:on of (A)

(b) (A) is false, but (R} is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A) °

s e e B

&

s

46.

47.

CIZU-1-23

. - S i B S . o B - B - - . B B ——— - ————— -

wa'a‘i%lﬁ?

1. 3 9@ et ) adg gl @ e aref
e fafeRtor @ e 2

2. JHH &R0 S FARGARIHE & ST T 2 |

2 fer U e @ wE W g

He:

(a) T 2

(c) 132 dnt

(b) A 17 H 2
(d) Faet 1

frafafea # A s9-a1/8 <@ @€ ggE uitwe
=1 feen i 2/2 7

1. =l ESE
2. & I

3. 3%

4. Fd@

Fe:

(a) 2 3T 3 (b) 3 3R 4
{c)h;aa (d) See 1

T 3 e g e §, R o = arfierm (4)

T G H FHRV (R) FE TR |

HIWEHUR (A) : WRA § FH(ed JTTHT FT o 6T

% form a2 |

HII (R) : SHT&a ATt ST 3T RS &9

A FHAAR T hl A T IHEHR T8 WG HLl

21

:ﬁ%ﬁﬂl“‘lﬁzﬁﬁiﬂmﬁ:

E T4

() (A) 3 (R) AT W&l &, B (R), (A) Fi wdl
TS TR T B

(b) (A) 7T B, fog (R) ®El 2

(c) (A) W&l R, fohg (R) Tretdl @

(d) (A) 3 (R) Grit & & 3R (R), () B =@
TEA BT 8

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

GET IT ON
Google Play

1 CIZU-1 - g

<

24

TR T W 1 | S . S W i . T Y Ol e . . | M i A S e S e it e e T —
———

|
|
|
| 48. Which one of the following books is NOT | 48. frafafaa 4 & wF- ~H1 T TG % g g
: written by Kalidas ? I fg:r@-, ™R 7
|

(220 1.

EHE 2

1. Meghaduta
i 2. Raghuvamsam

|
|
|
f
3. Shringar Shatak : 3 e
I Select the correct answer frorn the code | ) %‘ZH 2
given below : ;’ T 2 | Tl I g ;
. i E :
Code : | .
(a) 1and 2 (b) Only 3 | (a) 1M 2 (b) et 3
(c) 2 and 3 (d) Only 1 ! (c) 23 3 (d) Fae 1
. R ! .
49. Given below are two statements, one is } 49. = 3 Fu7 fou 78 &, A8 vE B AP (A)
i:belled(;s; Assertion (A) and the other as ; YT @i‘ %! BRI (R) Fal TAT 2 |
eason & 3 -
: Assertion (A) : Buland Darwa_]a was ii o (A) : TTeT T A
{ | E]"':El constructed at Fatehpur Sikri by the A ger g 1 o e o |
| Ejfa% Mughal emperor Akbar. THROT (R) : 37HeT A 38 T 61 i 3197 37
| Reason (R) : Akbar built this monument to el & 577 Y 91 F HuET o1 |
i commemorate the birth of his son Jahangir. :
l Select the correct answer from the code ;ﬁj g e * & w3 Hﬁq '
given below :
Code : ry (a) (A) 3R (R) 3l =& &, Frg (R), (A) FT H’é‘?
(a) Both (A) and (R) are true, but (R) is STET e HT 2
not the correct explanation of (A) b) (A) Teid R
(b) (A) is false, but (R) is truée (b) (A) s ;f::? 12 }qfi_z
(c) (A) is true, but (R) is false # () (A) ’ R)
(d) Both (A) and (R) are true and (R) is the (d) (A) 3R (R) TF1 & € 3R (R), (A) H FEl
‘ correct explanation of (A) SREAT HLT 8
| I
50. Match List — I with List — Il and choose 50. g - 19 g - 11 gAfera Hifse ok gl
' the correct answer using thc code given % #2 fo T g F yEm =Tl s g |
! below the lists. A Tﬁﬁ s ‘qsﬁ —-1II
[ List - I Listl_ T:ﬂ (@) )
' (Port) (State) i ’
' A. Paradeep 1. Tamil Nadu A. I L \II it E: o
B. Tuticorin 2. Kerala B. qfaehiie 2. H&A O]
C. Kakinada 3. Odisha C. SHIHHTE 3. 3ffem
| D. Alappuzha 4, Andh{a Pradesh D. 393 4. 3 YT
Code : o T2
A B € D : A B C D
@1 3 2 4 () 1 3 B 4
3 1 4 2 B3 1. 4- 3
g3 1 -2 "4 ©3 1 2 4
@1 3 4 2 d 1. 3 4 2

116}
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Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).

Assertion (4) : Sustainablie\c{levelopment

should take place without '_damaging the

environment and development in the

present time should not compromise with

the needs of the future generations.

Reason (R) : Agenda 21 was signed by world

leaders in 1995,

Select the correct answer from the code

given below :

Code : N

() Both (A) and (R) are tru€, but (R) is
not the correct explanation of (A) ®

(b) (A) is false, but (R) is true

(c) (A)is true, but (R) is falser,

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

EEE
PR

52. Match List — I with List — II.and select the
correct answer using the code .given below
the lists.
List-1I
(Pulitzer award
categories)

A. Fiction 1.
B. Music 2

List II

(Awardee in 2025)

5
Jason Roberts
Branden
Jacobs Jenkins
Susie Ibarra
Percival Everett

C. Biography 3.
D. Drama 4.
Code :
A
(a) 3
(b) 4
(c) 4
(d) 3

AWWPE
= M~ O
N=N=—=T

53. Which of the following enzymes is/are

released in stomach for protein digestion ?
1. Chymotrypsin
2, Trypsin

3. Pepsin

Select the correct answer usmg the code

given below : B

Code : s
(@) Only 1and2  (b) Only3~

(c) Only 2 and 3 {d) 1,2 and 3

e e . B e st
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} 51. 412 %o feu o 8, o @ T AR (A)

| q1 g Y HRAY (R) FE1 TR |

| afirerer (A) : Gad e gatew ® JHa

| e e e e o e 2 e

=] wifersn <) ifeait ot STl % @ wwsian T
FET T |
HWO(R) : ToreT 21 W foa Amadt g 1995
TR Ry My 9 |
A R e e & T 3w gf

P B8

() (A) 3 (R) 1w &, forg (R), (A) BT =Rl
STEAT TRl BT &

. (b) (A) e 2, g (R) W@ 2

' (c) (A)H& 2, fFg (R) Terd @

(d) (A) 3 (R) AT T & 3R (R), (A) A T
ST AT 8

52. -1 g - 11 9 gafea Hifg g2 gieat

% 2 feu T He = W@ = oEd 3w g |
gt - 1 gt - 11

(TR gEsr f Sof) (2025 # o)
A. fram 1. S Uedd
B. @iiia 2. ST SAehe-SATRY
C. sftat 3. g&l 35|
D. gM1/A1eH 4, qHiad EE

C T

A
(a) 3
(b) 4
(c) 4
(d) 3

| B

L WWprPrH
- hN-=N0
N=ND=g

53. WA F e % fore smamr § frafafea o @
BT/ § e et @ 7
1. wERiffen
2. fefem
3. ufem
e fom o g & W Iw g
%

(a) a1 132 (b) e 3
() Fa@ 233 (d) 1,23R3

S

1171

, ez
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| 54. Gwen I:u(-:lv:wls,r arggvﬁ s;;l;e;l;;t; --D-;l; 1_5“ T ‘5:#“ ';ﬁ.é['q:'r E?Ff ﬁ'Q T % ﬁ‘ﬁﬁ‘ Q$ I afﬁa;a:,' ()
AT AL I B (R) FHET TR |

| labelled as Assertion (A) and the other as
Il Reason (R). »
iR (A) : WRA ¥ TGO wEA Jomedt |
HRUI (R) : WA # HRITTCTH STAMIH & f

' \ Assertion (A) : India has a Parhamentaly

system of Government. I
- EEE Reason (R) : In India, the eleecutlve is et Bt 2 |
. ::-f':t% responsible to the legislature., a
ofe Select the correct answer from the code A fag e 2 @ et I g ¢
given below :
Code : (a) (A) 3 (R) 2T =@l €, forg (R), (A) 1 7
ST TE T B

-]. (a) Both (A) and (R) are true, but (R) is
_ not the correct explanation of (A) ¢
| (b) (A) is false, but (R) is true '

(c) (A) is true, but (R) is fa]se

(b) (A) T 2, T (R) 5 @
(©) (A)wE 2, fog (R) o &

l

I

i

i

i

|

|

|

|

|

I

:

: Fe:
i

|

i

i

i

i

1

i 2
L) (A) 3 (R) 21 @@l & 37T (R), (A) FT FEl
i

' (d) Both (A) and (R) are true and (R) is the
| correct explanation of (A)) T Rl %
55. Which of the following pairs is/are NOT 55, frefRad § @ HH-a1/8 3w a8t gafd T
correctly matched ? ?/E 7
(Pass) [StatelUnion (=) @ /Qﬁmﬁm o)
Territory)
1. i%‘lﬁﬁ@ - dEE | :
1. Lipulekh — Ladakh. el E’"&Eg
! 2. Nathu La ~  Sikkim 2. ALl - E
il 3. Bomdila - Arunacha.l Pradesh 3. "mfEe - TETEE W
| 4. Shipkila - Himachal Pradesh 4 RmRia - e W
' Select the correct answer from the code #r fow Tq e & T IW T ;
given below : w2
| e (a) aeT 1 30 2 (b) Faa 2, 3 3N 4

(a) Only 1 and 2 (b) Only 2, 3 and 4
‘ | (c) Only 1,2 and 3 (d) On.lyl

IR
| 56, Which among the following words were
I rted in the Preamble of the Indian

(c) Fae 1,2 3N 3 (d) e 1

56. 40 3 dfam Geee g MR a6
sear 3 freffaa § § $E-F I A8

11 Sse.
Constitution by the 42nd Constltutlon a7
Amendment ? _ i
| 1. Socialist |_?_|' E| WE‘ Tl namél J
2. Secular Eﬂfﬁ& 2.
J | 3. Sovereign g 3. gE¥dr
i ‘ 4. Republic 4. TOE
| Select the correct answer from the code 4 fou e e 3w I gﬁQ
| | given below : - t .‘.- o
Code : W
| (a) 1and 3 (b) 3 and4 i (a) 1 ﬁ 3 ﬂ;} :;,a;z;
‘ | (c) 2and 3 (d) 1 and 2y | (c) 23R 3 (-). llllllllllllllll
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57. Match List — I with List — II and select the
ﬁorrect answer using the code given below the i
sts
List-1I ¢ List - 1I
(Emperor) (City where
‘Tomb is located)
A. Babur 1. Agra
B. Humayun 2." Lahore
C. Jahangir 3. Delhi
D. Shah Jahan 4. Kabul i
Code : :
A B C D i
(a] 4 3 2 1a : i
3 4 1 2
)3 4 2.1 B
(d) 4 3 1 2

58. Which of the following Ramsar wetland site

is/are NOT situated in Uttar Pradesh ?

1. Sarsai Nawar Jheel

2. Samaspur Bird Sanctuary

3. Rudrasagar Lake

4. Sultanpur National Park

Select the correct answer from the code
given below :

|

Code :
(8) 1 and 3 (b) 3and 4
(c) 2and 3 (d) lmand 2

Global Wage Report 2024-25 was released
by which of the following organisation ?

. 1. International Labour Organisation
[E2E 5. World Bank

ol 3. International Bank for Reconstruction
and Development .

Select the correct answer, from the code
given below : S
Code :

(a) 1and?2
(c) 2and 3

59.

(b) Only 3
(d) Only la

The Global Financial Stability Report is
released by which among the following ?

1. International Monetary Fund

2. World Economic Foru__:lnl

3. World Bank
Select the correct answer from the code
given below : }

60.

59.

60.

Code : e
(a) 1 and 2 (b) Only 3
(c) 2and 3 (d) Only 1 |

1191

GET IT ON
Google Play

CIZU-1-23
57, T - 1% g - 1 e A T g
| = e T e 1 M W 7 I g |
ERE  gEt-1 Tl - 11
mpE  (Fme) (VTR Tl wewar 2 2)
A. T 1. TR
B. g4 2. TR
C. Wi 3. feeeft
D. Sgigl 4. BT
FE:
A B C D
@4 3 2 1
)3 4 1 2
)3 4 2 1
@4 3 1 2
58, frafafaa & & F-11/8 THE STy w2

IR T T R T 2/E ¢

1. TEs AR 3

2. GRER Taft 3TvIneg

3. ¥EEFN 3|

4. Fearg T JTH
ﬁ%ﬁqm@ﬁa‘a‘}mgﬁq
(a) 13ia (b) 334
(c) 23R 3 (d) 132

fFfftaa 4 | frg g9mea g 3 309 o
2024-25 9 #I T B 7

1. JTAAST 49 |6

2. fya &%

3. M gAfmi g fgem d%

2 few @ He @ T I gh

ETE

(a) 132 (b) Tt 3

(c) 233 (d) a1

A forelar fRman T Frefafiaa o @ ferds gro

STt <Y St @ 2 , ;

1. Siisft 5 A 5?@ 2

2. R f.

3. fama = ;

9 fou e He @ @ W g i

w2 i K

(a) 1302 (b) ¥t 3 1
! (c) 2 3R 3 (d) %ma__l _____ L E
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61.

With reference to hchens which of the |
following statements is/are correct ? 1
1. Lichens are very good mdlcators of =
pollution. I ]

2. Lichens grow well in po]Iuted areas. |

GET IT ON
Google Play

CIZU-1 -

!t | <t (O . e s i B . e e et Sl

61. @EHA * wey # Fraferfed § F BH-m/4 %
T 8/e 7
1. TTgH WGUU % FEd 37D Hoha £ |
2. WT3h Yofta &1 § st R & I |

Select the correct answer from the code } 12 faw 10 %2 @ wé I g
given below : i ; 7z
toces : JI ! (a) e 2 (b) I 178 2
(a) Only 2 (b) Neither'l nor 2.
(c) Bothland2 (d) Only1l (¢ 13 2dW  (d) *ea 1
i
62. Which of the following pairs is/are NOT } 62. Trefemaa i § #iH-w1/4 wdt gHera 7@ 8/2 7
correctly matched ? I (fem) (arf@)
(Day) (Date) ;
[E:E 1. International - 16 September 1. Faldg o fiem - 16 Ramr
E\?iﬁ Ozone Day ;EI E|2 Ry wafer feag - 5%
¥ 2. World Environment - 5 June
Day & | B 5. form amrchia R - oowH
3. World Wildlife Day - 22 arc i "
Select the correct answer from the code A9 fi e e & @t I ghe
given below : < :
Coile 1373 b) ¥ 3
(@) 1and3 (b) Only 3¢ (@) fdJ ]
(c) 2and 3 (d) Onlyl (c) 233 (d) Fae
63. With reference to ‘Brazil’ which, of the 63. ‘Frfet’ & Hee A frefefiaa @ & sE-91/8
following statements is/are correct ? e TE B/R ?
1. The equa{onal rainforests of Brazﬂ are 1. s % W}@q Tl B Yo E%.g_f |
called ‘Selvas R A
2. The dark black colour fertﬂe ]a.nd here 2. =&l Eﬁg %ﬁllﬁ T W
is called ‘Terra Roxa’. e’
Select the correct answer from the code = few U e & T INW =R :
given below : He:
Code : @ el el 1ol (a) hae 2 [b]q?ﬁ 1982
(a) Only 2 either 1 n d) et 1
(c) Both 1and2 (d) Only 1 (¢ 1aR23d (4
5 L
64. Match List — 1 with List - I and ¢hoose the | 64. Tl -1 1 T - 11 & gafea Hifrg ok g
correct answer using the code gwen below ¥ 9 feu U e H WA H FE W T |
the lists. i et~ I Tl - 11 EI
List - I List — 11 (For 3wmam) (vemer) &
(Finance [Chairm_ag_) X e P -
Commission) : T Ei' S . 4. @
A. Eleventh 1. Dr. C. Rangarajan B. W_, 2. .
B. Twelfth 2. Dr. Y. V. Reddy C. egdl 3. 9. T. @ lgaﬁ
C. Thirteenth 3. Prof. A M. Khusro D. iegat 4. 3. @
D. Fourteenth 4. Dr. Vijay(_ Lt Kelkar %2
Code : To.
1R
@3 1 4 2 0O (@)
)2 3 4 1o A0 [ (b)2 3 4 1
©@3 2 1 4 38 2 1 4
@1 3 2 4 v @1 3 2 4 .
_____ 'zgfmw___,_
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GET IT ON
Google Play

E% CIZU-1 - 23
-;}__W—h;c;_a;dng the following is/are NOT a ’l 65 ﬁrﬂlﬁﬂﬁﬁ ﬁ q ?-ﬁl‘rl ﬁ‘{iﬁ?ﬂ $[ qmTtas H%EH
social indicator of poverty ? | : T 7
. Illiteracy (. i 1. Frema
El E| 2. Safe drinking water | W el
1‘6‘# 3. Job rtugt * >
E{ ob opportunities { 3. ¥
4. Size of the house i
Select the correct answer from the code i W
| 5 :
given below : t i few e %e e
Code : ; et
(@) 1and?2 P i (a) 132
(b) Only 4+ 1 (b) et 4
(c) 3and 4 I\ | (c) 33 4
(d) Only 1 | (d) Haet 1
66. Match List — I with List - I and choose the | 66. &=t — I 1 gt - 11 & gafe Hifvrg sk g
correct answer using the code given below % i 3 1Y e 1 W T IR AT |
the lists. w
List -1 List - II % -1 et - 11
(Lok Sabha) (Lok Sabha | [N (¥ @) (R T avead)
Speaker) A lldidm a1, 3w fagen
A. 1118 Lok Sabha 1. Om Birla B 1o s a2, du g
B. 12t Lok Sabha 2. P.'A/ Sangma ' > 5
C. 14t Lok Sabha 3. Somnath % 14:$w - Pl
Chatterjee D. 17 w4, HLELE. eEi
D. 17! Lok Sabha 4. G.M.C. Balyogi Fe:
Code : A B C D
”32‘;? @2 4 3 1
a
B4 2 3 1 B’ !
©3 2 4 1 €3 2 4 1
@2 3 4 1 ; d2 3 4 1
67. With reference to the Treaty of Aix-la-Chapelle, 67. lew—ﬁw 1748 =Y ofRr & g o frafefiag
1748, which of the following statements is/ i § BR-1/Q FoE T 2/R 7
are correct ? !
| 1. YUH FAleH Jg TH gl
miE 1. The first Carnatic war ended. i o I Sl
F?" 2. Madras was returned to the British. 2. W TS aww @ mw |
B Select the correct answer from the code = fou U e & W IW R
given below : A
o oty 2 ) (@) ¥ 2
a Il y e
§) Neither 1 norZ‘f’ ) (b) 37 1:‘»&&_2
(c) Both 1 and 2 (c) 13 2gmi
,_[A) Only 1 (d) a1

121
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68. Which of the following pairs is/are NOT
correctly matched ? Ny

(City) (River)
1. Budapest -~ Danube
2. Cologne - Rhinfé_"':
3. New Orleans - Missouri
4. Hyderabad .

(India) - Paleru

Select the correct answer from the code

given below :

Code : i

() Only 1,2 and 3 (b) Only'3 and 4

(¢) Only 2, 3 and 4 (d) Only, 1'and 2
69. With reference to ‘Baking Soé'ié;f':, which of
the following statements is /are correct ?
E" [E] 1. It is Sodium hydrogen carbonate.
= # 2. Itis used in fire extinguishers.
Select the correct answer from Ithts: code

Ty =
LY

given below : ‘ 3
Code : :
(a) Only 2 (b) Neither 1 nor 2
() Both 1and2  (d) Only'1l)/

70. Which of the following prepared the Annual

Groundwater Quality Report 2024 ?

1. Central Pollution Control Board

2. Central Water Commission’;

3. Central Groundwater Board

Select the correct answer fro%ij"f;the code
given below : e

ey

Code : s““n
(a) 1 and 2 (b) Only 3+
(c) 2and 3 (d) Only 1

71. Who among the following were the members

of the Fazal Ali Commission PRy
1. K. T. Shah -
2. K. M. Panikkar
3. P. Sitaramaiah N
4. H. N. Kunjaru (L0
Select the correct answer from'the code

given below :

Code :
(a) 1and 3+~ (b) 2 and 4
(c) 2 and 3 (d) 1and 2

Google Play

GET IT ON
\.ALU-]_._23
68 ﬂw%ﬁgaﬁﬁﬁq-m/ﬁ-ﬁ%%%‘%“
%/%? E;lrm
(7 R) (=) Eﬁ”ﬁ
1. gEiw - T
2. i - T
3. = e - fith
4. OEAG (M) - o
A few T e @ @ 3 g
T2

(a)%l,zmts (b) %aer 3 3fkt 4
(c) %o 2, 33K 4 (d) et 1 3ik 2

AT W@ F wed §, Frefafag 1
HH-T1/3 FUTF TR 2/8 7

1. I8 Hifeam grEgio HEhe 2 |
2. g AfEwwS 47 F e g g

69,

:ﬂﬁﬁqmﬁﬁ?ﬁmﬂﬁq:

Fe: :

(a) e 2 (b) FdT 198 2
(c) 1 3fkk 2 gFi (d) ereT 1

70. Frefirfiaa i & e gm0 i s o R
2024 FIR HI TE 7
1. =R weyor PR =

2. HE e A

@El 3. S e A

EieY = fou e e & w3 gh
T2
(a) 132 (b) et 3
(c) 23M 3 (d) Hae 1

71. FrafaRad ¥ | FH ber 7ol ST 6 Tew Y 7

1. . &. e
2. . TH. gfvrE
3. b, dHarda
4. 9. T, 9%
i fow o e ¥ o o gfc
Enﬂza (b) 2 3R 4
(c) 23 3 (d) 13W2

e -l B - i
SRR ——————E
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72, Con51der the fol]owmg and arrange them in
the correct chronological order.

1. Atal Mission for Rejuvenation and
Urban Transformation

2. Jawaharlal Nehru Natlonal Urban
Renewal Mission il

3. Jal Jeevan Mission i)

4. National Urban Housing and Habitat Policy

Select the correct answer from 'the code

given below :

Code :
() 2,4,1,3 (b) 4,2,1,3
(c) 2,4,3,1 d 4,2,3,1

73. With reference to ‘earthworms’, which of the
following statements is/are correct ?

1. Earthworms improves 5011 femhty and
B:-: are known as farmer’s friends. ’.f

fﬂ% 2. Earthworm has two pair of hearts.

Select the correct answer from the code
given below :
Code :

(a) Only 2

(c) Both 1 and 2

(b) Nelther 1 nor 2
¢ Only'1

Arrange the following saints illilcorrect
chronological order and select the correct
answer from the code given below

1. Nanak —

2. Chaitanya Mahaprabhu

3. Namdev

4. Kabir
Code :
(a) 3,4
(c) 3,

74.

» 2, 1
4,1,2

75. Which of the following is/are NOT a cold
ocean current ?

1. Agulhas current
2. Brazil current

3. Humboldt current
4, California current -
Select the correct answer frém'the code

given below :

Code : 'y
(a) 1and 3 (b) 3 and 4
(c) 2 and 3¢ (d) 1and2

R ———— R SR

123
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GET IT ON
Google Play

CIZU-1 - 23
72. Frafofes w fem wt e = w8
FICTHATTER FH H Sraftrd #i |
1. 37 FraThed IR et afada faom
2. Vg H5% U et Tefteror firor
3. 5d Sftem firem HiE
4, T wEh sraw vd yatam iy E’?&
:ﬁ%ﬁ"{"mﬁz’?ﬁ?@mﬂﬁﬂ: '
He:
(@) 2,4,1,3 (b) 4,2,1,3
(c) 2,4,3,1 d 4,2,3,1
73. ‘&ge % wed ¥ frefefaa 4 & S-w1/3 wu
adl /8 7
1. ey firgdt 1 3eiar % ggr € 3t fram
& et % w9 1 9H 9 2 |
2. T A gt Sl geA B € |
i fou o e & wE Iw ghe
e
(a) Hae 2 (b) A 178 2
(c) 1 3 2 g (d) e 1
74. Tr=afafea g o T8 FTerhagER HE H saafed
Hifse gen i fou T e @ T sw gh |
1. 996
2. a1 WEY
3. AW
4, HER |
e
(@) 3,4,2,1 (b) 4,3, 1,2
(c) 3,4,1,2 (d 4,3,2,1
75, Tratafaa & @ $H- vt Temriia g =&
2/8 7
1. STEE™ 9T
A@QWW
T 3. grElee UM
EE& 4. hieTwifaT am
Hi= fou o %e | W IW T
Fe:
(@) 133 (b) 33 4
(c) 23R 3 (d) 132
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u 76. With reference to Multi-Dimensional Poverty | 76, =g-3mamt e ?ﬁ%‘l’cﬁ ¥ e ¥ ﬁl‘lq‘f%r&;g;
. Index’, which of the followmg statements
1s/are correct ? ! ¥ HH-71/8 FoF T 2/ 7
o ! 7 foerfa 3t weqa foran
o 1. It was developed and introduced in 2010, ! 1. ¥ 2010 |
o 2. It measures extreme poverty and ' 2. g reafush Tl i A @ 3 fife
o includes those living on less than one | Th STell § o 9T e 199 F1 Tt 5
- dollar per day. : mive & & |
‘ Select the correct answer using the code g
o given below : : :g? ﬁ"l e BE S '
m Code : ' '%h—':fﬁ
-: (a) Only 2 (b) Neither 1 nor 2 : (=) 2 . (b} & 1A 2
m= | (c) Both 1 and 2  (d) Onlyl | (c) 13t 2THi (d) Faa 1
- .
|
p= 77. Which of the following palrs is/are NOT | 77. T=faRaa % & #-a1/4 3@ @8l gafea 7@
- correctly matched ? i 2/8 7
- _ I /& 1
= EI%L[;I (Acid) (Acid found in) | (37) (3 tmnmm%)
- Lactic ‘acicl‘ - Curd | 1. dfdes 31 = El"'EI
- 2 Tartﬁ.:u'lc E.!.Cld — Grapes : 2. et 37 - 7 ?:r
= 5?'1 Att:etzc acid - P;::tato.;l i 3. tfHfes s ol ?‘f
= elec e correct answer from the code ﬂﬁE .
= given below : ﬁﬁ.’[{ % @ W '
=y Code : M) e
= (a) 1and 2 (b) Only'3 (@) 132 (b 37 3
= (c) 2 and 3% (d) Only 1 (c) 233 (d) e 1
d D .
| e " " .
: 78. With reference to the Indian Ocean’, which 78. ‘fe= wegramR’ & W d Fafafaa 7 9
1 of the following statements i§/a:e correct ? aﬁq-m/ﬁ e Hel 2/8 7
:i. 1. ggtaﬁrgzléﬁdstég the Ancient Greeks as 1. 38 wrfa Tl T SR AR e ot |
a0 2. It is spread on the either side of equator. 2. I A TG & Sl T el gATE |
- | Select the correct answer from the code f= fer T T TEt IW ?]_|?{Q :
et given below : Y &
Code : e B
= (a) Only 2 «b) Neither 1 nor 2 (a) 3ﬂ'{2 o (b) ;‘;1 gl
. (c) Both 1and 2 (d) Only.l ! (o) 1R 2 (d) 1
— : 1""‘; ! " 3
- 79. Arrange the following events in correct l 79. frefafaa genat @ @& weEEaHER E:
: chronological order and select the correct : sqafedd shifse qur = feg @ Fe ¥ gdl I
= answer from the code given below. : ] ﬁﬁm; I
N 1. Battle of Kannauj | 1. H~S &1 4§ EE
£ tle of Daurah | - -
i 2. Battle of Dau : 9. = G Eif
- 3. Battle of Samugarh i 3. UYTE HIE
: . 4. Battle of Chausa : 4. <rEr @ Rt
N Code : | H:
. ! )
=) (a) 2,4,3,1 : (@) 2,4,3,1
: (b) 4,2,1,3 : (b) 4,2,1,3
=g (C) 4; 2: 3! 1 | (C) 4: 2: 3! 1
o @ 2,4,1,3 t ) 2,4,1,3

y
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80. Which of the following statements w1th
reference to ‘blood’ is/are correct ?

81.

1. Blood is composed of plasma and
different types of cells.

2. The presence of haemoglobin makes
blood appéar red.

Select the correct answer from the code
given below :

Code :

(a) Only 2 _
(b) Neither 1 nor 2
(c) Both 1 and 2¢
(d) Only 1 :

Who among the following Indian novelists
and journalists is/are part of the five
member jury for the 2026 International
Booker Prize ?

1. Natasha Brown

2. Kiran Desai.

3. Nilanjana S. Roy

4. Rajni Chauhan

Select the correct answer from the code

given below : -«

Code :

(a) 2and 3 (b) 3 and 4
(c) Only 3 (d) Only 1

Match List — I with List — Il and choose
the correct answer using the code given
below the lists.._

List - I List - II
(Committees (Chairman of
of Constituent Committees)
Assembly)
A. Union Constitution 1. Dr. Rajendra
Committee Prasad
OR{OR:s Rules of Procedure  2.J. B.
oot Committee Kripalani
[ C. Drafting Committee 3.Dr. B. R.
Ambedkar
D. Fundamental Rights 4.Jawaharlal
Sub-committee Nehru

Code :

A B C~D
(a2 1 3.4
)1 4 3.2
)4 1 3 2
(d1 2 3 4

80.

82.

Google PI
oogle Pla
CIZU-1 J i

- ad

@ % wed #, frmffaa # 4 wh-w/3 Fom

HE /T 7

1. TR s 3R fafi=r weer <6 shifommrat @
T @1 |

2. et 6 ufeufa @ @ enfemmgaa
T R

= fow e & wé I IR

ETE

(a) Had 2

(b) IdA 178 2

(c) 13 2 gHl

(d) o 1

. Prafafea § @ 9wyl STRTEER AR TR

2026 % T g JEHR 6 9fe geedid i
1. T §EA
2. T e

3. HfereEn vE. T

Hr= fow U e & " 3w g

ET

(a) 2 33

1 femn 2/2 7
4, wHI SEE
(c)%}:aas

(b) 33 4
(d) a1

Tl — 19 gt - 11 & gafea iy 3k i
% 1 fou M g w1 W R ad I g |
T -1 T - 10

(efem S (whafeai & saw)
wufaar)

A. gl "fqam wfifa
B. wfsran fram wfufa

C. yr&y afufa

1. €1, e vERe

2.5 #ft. e

3.&l. #i. 3.
TSR
D. Hifers At 4, AR TEE

I9-|iufd
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83. Cons1der the followmg and '1rrange them 83 ﬁﬂﬁ?ﬁ?ﬁ TT{ ﬁ‘EJT( Eﬁﬁr‘ﬂ;’. HZJ'I 3-‘5' 1131

84. IT Yeu & fmfeifga ot d 4 wH-a1/8 faa,
IW Y & had UF 7 et & [y 19 dm

84. Which of the following districts of
Uttar Pradesh shares its boundary with

I
]
in correct chronological order. | FIAHATTAR HH o erafya Fifsu |
1. Jawahar Rojgar Yojana :
2. Development of women and children | 1. ST TS ST
i : | a0 T 5
EiE i RuralAreas : 2. Tl & wfgenai 3 A= w frm
3;95%?- 3. Integrated Rural Development I
i Programme : 3. Uehighd UTHIUT fahre heishn
4. National Rural Employment | T T TSR e
Programme : 5
Select the correct answer from the code | = fer T e T & I g
given below : :
Code : .t ’ C T
(@) 3,4,1,2 (b) 4,3,2,1 j (@) 3,4, 1,2 (b) 4, 3,2, 1
(C] 4: 3: ’2 [d) 3’ 4: 2: 1 : [C} 4! 3: 1! 2 (d) 3' 4’ 2’ 1
|
.'
|

only one other district of Uttar Pradesh ? g
1. Lalitpur @ E! fe 1
2. Saharanpur S 1. wfem
3. Sonbhadra 2. HerIg
Select the correct answeilj',‘ﬁ:-om the code 3. "R
given below : T few e e A weh I g ;
m Code : - Fe:
5 () Only land2 (b) All 1,2 and 3 (a) Haet 132 (b) @t 1,23R 3
) }
. (c) Only2and 3 (d) Only le (c) %ae 2 3T 3 (d) ae 1
3
2 85. With reference to Panchaj}ati Raj Institutions | 85. WRA H =dt Tt GEA13T & Hed # Frefefaa
. in India which of the foﬂowmg statements ; T & HH-T1/8 FU7 T8 /8 ?
2
| is/are correct ? N | 1. e T Senst 5 w1 il
) 1. Tenure of Panchayati Raj Institutions : S |
| shall be of 5 years. ' l. _ - L -
l 2. In Panchayati Raj Institutions, out of | 2. el TS HEnl § i el 8 |
|I the seats reserved, 1/4;:1 the seats shall } 1/4 TH YA Sfd vd SEfad st
| be reserved for women belonging to_ f £ wfzensit 3 fre smdiE & | Elr"iE|
Scheduled Caste and Scheduled Tribe. | P 3
Select the correct answer from the code : feu T e & = s ghe r&
given below : "r:I."' : Fe:
Code : N b (@) F 2
(a) Only 2 (C i bl T At
hnig 19
(b) Neither 1 nor 2 X : (b) :&FIQ
(c) Both 1 and 2 : i (c) 1 3fit 2 M
: (d) Only 1 « ; (d) Fae 1
e TP F TR T L
126
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86. Match List - I with List - II and select the | s6. 'l

correct answer using the code gwen below the |

|
lists. |
List—-1I List - n |
(Writer) (Book) * |
; A. Trivikram 1. Gita Govinda |
E3E i
P?’ : Bhatta l
&= ;& B. Somdev 2. Bnhatkathamanjaﬁ i
. Jaidev 3. Nal Champu i
. Kshemendra 4. Katha Sarit Sagar |
Code : i
A B C D _ I
@3 4 1 2 N\ }
(b) 4 3 2 1 ’
4 3 1 2 = 1
@3 4 291 A |
87. Which of the following archaéblogical sites :
related to Indus Valley civilization are !
situated in present day Uttar Pradesh ?
1. Mandi
2. Rakhigarhi o
3. Hulas ™)
Select the correct answer from the code
given below : N
Code : .,
(@) 1and?2 (b) Only'3”
(c) 1and 3 (d) Only1y
88. Consider the following sources of world water
supply and arrange them in descending
order. nO
1. Oceans =
2. Rivers ~ |
3. Polar ice and Glaciers {'\___'_s t
4, Ground water 48]
Select the correct answer from the code
given below : -
Code :
(@ 1,3,4,2 (b) 1,2,4,3
(€) 1,2, 3,4 (d) 1,4,3,2
89. Which of the following is/are a Financial |
Committee of Parliament in India ? !
1. Public Accounts Committee’
2. Estimate Committee oA
3. Committee on Public Undertakings
Select the correct answer from Jthe code
given below :
Code :
(a) Only 1 and 2+ (b) All1,2and 3®

(c) Only 2 and 3

(d) Only 1 |

o)
N

89.

GET IT ON
A Google Play

CIZU-1

VT3]

-lﬁqfﬁunﬁgﬁ%mﬁﬁm{?ﬂ%ﬁéi_%
F= Ry T Fe ¥ v sw YR |

g -1 ot - 11

(@) (w21)

A. Tifessn wg 1, Tird mfe EfEl
B. @wed 2. JERATHAN E]‘-ég‘é;
C. g™ 3. 9d I

D. &g 4. Y1 i T
Fe

A B C D
@3 4 1 2
b)4 3 2 1
4 3 1 2
@3 4 2 1

firy w1 wwr @ Tl Prefaen warfers
TSN A I AT A R@ @ ?

1. uSt )
2. TENEl
3. g™
2 fou U g @ H@@ IW g
He:
(a) 13M2 (b) et 3
() 133 (d) ae 1
. fova & amyfd & F=fafaa @l w femm il
TUT 38 FE! v 3 =Fafed Hifs |
1 ‘TETHFTI

L?.I‘IE 3. gaﬁuat‘aaﬂtfma
B 4. T v/
|

3 e 0 g @ W T AR

e

@ 1,3,4,2 8] 1,3 &3

(€ 1,2,3,4 (d) 1,4,3,2
e % @ S9- wma & dae 1 fadfim
wfufa 2/8 ¢

1. @ @ afifa

2. Uahed Ffd

3, Q% ITHA Fihta
?ﬁ‘af’mﬂﬁ%ﬁa’aﬁmgﬁu

F2:

() el 132 (b) =ft 1,2 3R 3
{c)%ﬁaazaﬂts (d)aﬂal

127]
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b1

90. ist - I with List - | T 7
Match List - [ with List - Il and select the | 90, W—Iﬂﬁﬁ?ﬁ—llﬂgﬂﬁa%amw%

corrr_jct answer from the code given below | 2 few e %2 & @ I |
the lists, | :
List - I List - IT _i T -1 Tl - 11
EIgE  (National Park/ (State/Union | (Tefa zam/ (T /% Tnfim
Er& wildlife Territory) Il T HARVT)  TE7)
Sanctuary) : A. T 1. 9% yeu
A. Dachingam 1. Madhya Pradesh | S TS
B. Keoladeo 2. Rajasthan ;' B. 2.
| C. Kanha 3. Kerala | C. &l 3.
D. Periyar 4. Jammu and ! D. 9fEm 4, 5w 3wy
' Kashmir | .
Code : ,' % A B ©-D
£ i
' il - | a4 2 3 1
! @4 2 3 1 )
| M2 4 1 3 B2 4 1 .3
i (c) 2 4 3 1 (¢) 2 4 3 1
:; (4 2 1 3e d4 2 1 3
} 91. Which of the following countri:‘:eé'li;s/are NOT | 91. fmfafga § @ wH-w1/8 20 Smer &1 @
‘! a member of the ‘Bay of Bengal Initiative - a1a aeiehl 3R ffer wganT ge
*i for Multi~$ect0ra.l Technical and Economic (Fras) wT e 7@ 2 7 G E
i Co-operation (BIMSTEC)'? ' 1 : Tt
'| 1. Thailand b e o
2. Nepal 2. quret
3. Bhutan 3. A
4. Indonesia 4. sEARmE
Select the correct answer fror‘:} fc_he code A fou Mo T 3 T8 3w gﬁrq d
given below : 'r’ T :
Code : g ! d
(@) 2 and 3 (b) Only 4 - f (a) 233 (b) I 4
(c) 1and 4 (d) Only 17 | (c) 134 (d) S 1
oo i
92. Which of the following pair is/are NOT | 92. fr=fafies # & siv-m1/8 gm wé gifvm =&
correctly matched ? : g/ 7
(Dam) (River) | (i) (@)
1. Baglihar Dam - Chenl'a‘l.bj i 1. =fen stg o s
B 2. Bunddh Dam, -~ Raw : 2. YeIg 4 - T
mi‘qﬁé 3. Srisailam Dam - Tungabhadra i 5. lemats ;
Select the correct answer frmﬁ'?he code : ; g
given below : > I A fog e e & Wl I gf -
Code : - : &
| (a) 1and 2 (b) Only 3 | (@) 13R2 (b) ¥aw 3
} (c) 233 (d) Faa 1

(c) 2 and 3 (d) Only 1
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, 93. With reference to Mangrove Initiative for
Shoreline Habitats and Tangible Income |
(MISHTI), which of the follomng statements |
is/are correct ? “.

1. It was initiated in 2019 I

2. It aims to restore Mangrove forests.
Select the correct answer from the code
given below : o0

Code : '
(a) Only 2

(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 1

94. Given below are two statements, one is

labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : The Hlmalayas form
source of several large perennial rivers.

Reason (R) : The higher ranges of

Himalayas are snow covered-throughout

the year.

Select the correct answer from the code

given below :

Code : )

(a) Both (A) and (R) are true;-but (R) is
not the correct explanation of (A) &

(b) (A)is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are tm@__and (R) is the
correct explanation of (A).

Given below are two statements one is
labelled as Assertion (A) and the other as
Reason (R). I
Assertion (A) : The terp\tones of the
Sultanate could be broadly divided into two
parts — the Khalsa and the Jagirs.
Reason (R) : The Jagirs comprised of the
land under the control of the State.
Select the correct answer from the code
given below :
Code :
(a) Both (A) and (R) are true,’but (R) is
not the correct explanat1on of (A)
(b) (A) is false, but (R) is true,
(c) (A)is true, but (R) is false
(d) Both (A) and (R) are true and (R) is the
correct exp]anatmn of (A)’

P

95.

24

mi‘qé

£y
<
Bl e e e Bt e e P O S i e 2

Google PI
oogle Pla
CIZU-1 = i

T ed

| 93. mmaﬁtﬁm%ﬁmﬁaqﬁﬁ

@

S

|
{
|
|

94.

05

(firsdt) & wel & Freferfiaa & & wl-71/3
wyd Tgt 8/2 7

1. 38 2019 # yreey fepam mam o1 |

0. T Sega dia a1 e FE R

1 few e e & T I R

F:

(a) Shad 2 (b) A 17§ 2
(c) 1 3 2aHt (d) a1

9 2 e R e , el @ T w1 AR (A)

1 A <l T (R) e R |

ftrem (A) : e o o2t Taaaied!

Afeat o1 sgm e R | _

o1 (R) : femme <t S=ft afmd aa @?5'

Reareored wdt 2 | Eﬂﬁé

Hia fou T g & wE IW g

L T4

(2) (A) 3R (R) 2l wd €, fFeg (R), (A) A
& =T TE AT 8

(b) (&) e B, Thd (R) WET R

(©) (A) =& B, FFg (R) e 2

(d) (A) 3 (R) GF1 @l & ot (R), () Ft e

SATEAT ST &

R & s feg m R, S = w1 ahEem (A)

FUT QAR FI HA (R) FET T2

THeA (A) : Heawd 5 81 1 A G W ar

it & frnfra feman < wesar 2 - w@rern SR

Eiuitl

TROT(R) : S0 § T & Feor § 31 areft

fy mmfire off |

T4

(a) (A) 3 (R) i &t &, T (R), (A) =1 &=
ST T8l BT

(b) (A) T 2, 7RG (R) W&t @

() (A) W 2, Frg (R) Tl @

(d) (A) 30 (R) 31 &t & 31 (R), (A) T &
AT FAT &

RO OR——————— e

-
’
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97.

98.

the lists. _
List -1 List - II .

(Padmavibhushan (Awardee 2025)
Fields 2025) ’

A. Trade and 1. Shri 3
Industry Lakshminarayana
Subramaniam
Literature and 2. Shri Osamu
Eclucation Suzuki
C. Medicine 3. Shri M. T. .
Vasudevan INaJr
D. Art 4. Shri D. Nageshwar
Reddy
Code : 8/
A B C D
(a) 3 2 1 4
(b) 2 3 4 1
(c) 2 3 1 4
(d 3 2 4 1

Pushkar Kumbh Mela 2025 was helzi in
May 2025 in which of the following State(s) P

1. Rajasthan
2. Uttar Pradesh

3. Uttarakhand
Select the correct answer from the code

given below :
Code : _
(@) 1and?2 (b) Only 3.
(c) 2and 3 (d Only1 ¢

Which of the following statements

is/are correct ?
1. Dolphins and Whales breathe through

blowholes.
2. Earthworm breathe through thcu

skin.
Select the correct answer from the code
given below : o

Code :
(a) Only 2+ (b) Neither 1 nor?2

{c) Both 1 and 2  (d) Only 1

£x}
e Yt

P P |

130

96 Match List — I w1th LlSt - II and select the :
correct answer using the code glven below |

i
|
|
!
|
{
|
|
|
]
i
i
i
i
[
|
|
|
i
i
i

i
|
!
|
i
i
i
i
}
!
i
|
!
{
|
I
!
!
|
|
|
|
|
l
|
|

GET IT ON

Google Play

%ﬁﬁﬁ‘!“ﬁ?@ﬁﬂﬁmgﬁq |

gl - 1 gl - 11
(vgnfegum 8 2025) (AT 2025)
A. SR AR @ 1. oft defEarmy

gamuay
B. @ifec 3R frem 2. +ft 37\ gah
EEE S ofi wn. &, amgea
e
D. el 4. oft €. e @
Fe:
A B G D
@3 2 1 4
b)2 3 4 1
g2 3 1 4
@3 2 4 1

97. HE 2025 T R H el 2025 I AR Fefifed
T for Tog /st 8 T mam oar 7
1. TSEIH
2. I UL

r&fs ITREUS

12 fou e Fe & W IW gAY :

Fe:

(a) 1 37T 2 (b) eet 3

(c) 233 (d) Faa 1

El

08. T=foifad wual ¥ § ®H-T1/4 37 T8 2/8 7

1. ﬁ%ﬁﬁ%ﬁﬂ@m%w%m
ot 2 1

Q.ﬁqmﬁm%mmﬁﬁaéﬁ%l
i fu T e @ wEt I g
He:
(a) heret 2 (b) Ta 19 2
(¢) 13 23mi (d) Fae 1

< . St B Bl .. .. S e i - S i S % .
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99. Given below are two statements one is
labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) :

Integration involves political, ec_cmomlc,
social, cultural and psychological dimensions |
and inter-relation between them, 1)
Reason (R) : The National Integration
Council was constituted in 1961 on the
principle of Unity in Diversity’.

Select the correct answer from the code
given below :
Code :

(a) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)
(b) (A) is false, but (R) is true

() (A)is true, but (R) is false
(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

™3
100. Consider the following elements found in

a typical 70 kg man and arrange thern in
correct increasing order.
1. Sodium

2. Potassium

3. Copper

4. Iron

(L |

<0

Select the correct answer from the code
given below :

Code : Jlr_‘

1
(@) 4,3,1,2, (b) 3,4,2, 1;
(c) 3,4,1,2 (d) 4,3,2, 1.

Consider the following Committeéﬁé ’relating
to poverty and arrange their formation in
correct chronological order.

1. Lakdawala Committee

2. Rangarajan Committee

3. Tendulkar Committee W)

4. Dandekar and Rath Committee
Select the correct answer from the code
given below : I

101.

5i¢

()

Code : e
() 4,1,2,3 (b) 1,4,3,2
() 1,4,2,3 d) 4,1,3,2

|
The concept of Natmnal | (=] El

GET IT ON

Google Play
CIZU-1 - 23

99. QR R &, ﬁqﬁqa:a?raqftmm(;\)

TAT GE ! HIOT (R) a1 TR |

HTWF2A (A) : UG whar i agumen °

TR, i, amHIfieh, wiepla w

TSR AT qUT I g i Ty

aftyferd 2

RO (R) : T Teha TG 1 T4 1961 |

‘e o Thar ¥ fogra % amam W R T

= fu T e & R I g

T

(a) (A) 3 (R) 1 =t &, FFeg (R), (A) 1 =l
TEAT TEl BT B

(b) (&) TreTd &, forg (R) Wt &

(c) ()= 2, fheg (R) Teta B

(d) (A) 3N (R) 1 Tt & 3T (R), (A) B w
TR T 2

L]
l
|
!
I

i

100. T "W 70 foh.r. =afaa § @ o 99
Frefefaa awi w faam SHifve qen =2 o s g i
%1 wrafn St | i
E&E 1. aifsam - |
Eﬁ‘# 2. TiefiEm ;
3. sl
4. el
2 few Mo 2 @ WA I P
| Fe:
(@) 4,3,1,2 (b) 3,4,2,1
(c) 3,4,1,2 d 4,3,2,1

. Tl | wetia frafafaa afifet w fee St
YT 576 T3 I TE HICTHATAR HH § srariiom
Hif |
1. wehemaTen afufy
2. T afifa
3. dgerat |ffa
4, Trga 3 W i
2 fou U e | wE IW ghw

A
(a) 4,1,2,3
(c) 1,4,2,3

(b) 1,4,3,2
d) 4,1,3,2
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102

103.

EEE

104.

105.

Whlch of the fo]lowmg Ianf:,uagca 1s/arc
NOT included in the Eighth Schedule of

102. ﬁm%fﬁammnﬂﬁq-wﬁﬂmﬁwafamﬁ

GET IT ON
Google Play

CIZU-1 - 23

el arggeh o mftre =8 2/3 7

Indian Constitution ? ST

1. Nepali OPACIEE E

2. Dogri E]'.‘-:é 2.

3. Bodo 3. @2l

4, Bhojpuri . 4, W=
Select the correct answer from the code 19 feu 0 e @ wE I F T Fif
given below : 2
Code : * ok 4
(a) 1 and 2 (b) Only 4 (a) 1312 (b) et 4
(c) 3 and 4 (d) Only 1 (c) 33 4 (d) Fae 1
With reference to ‘acid and bases’, which of 1* 103. ‘e 3 gm’ % Hel #, frefafaa i &
the following statements is/are correct ? : FHI-G1/8 FU GEl B/8 7

1. Acidic solutions have pH more than 7. | 1. aefrr free 7 9 i pH %1 & 2 |
S:Z.l B:as:: solutions have pl: less Lhan :!I 2. &t frerm %1 pH 7 @ HH B R |
elect the correct answer from the code -
given below : ‘—ﬁ%ﬁqn‘qwﬁﬂ‘é’rﬁ ’
2 T

Code :

(a) Only 2 (b) Neither 1 nor 2 (a) AT 2 (b) A7t 178 2

(c) Bothland2 (d) Only 1" (c) 1 3R 2gH (d) *ae 1
Consider the tenure of the followmg 104, W & fr=fafiaa eafadt & wriee w famm
Presidents of India and arrange them in #Hfu gon 32 998 e @ nfEh 9% ¥ TEl
correct chronological order start.mg from 3 orrfiem ﬁﬁm
carliest to the last. ] g 3 . EFFT@ !

1. Neelam Sanjiva Reddy 1. frem wsfar

2. K.R. Narayanan 2. % SR, TR

3. A.P.J. Abdul Kalam 3. 6, 9i. |1, A=A HAH

4, R. Venkataraman 4. FAR. dHe
Select the correct answer from thc code #3 fu Mo T2 o ﬂﬁq
given below : = T
Code :

[a) 1’ 4’ 2}3 (b] 4, 1, 3,2 (a’ l’ 43 2)3 (b} 4: 1:3:2

(c) 4, 1,2, 3. (d) 1,4,3,2 (c) 4,1,2,3 d 1,4,3,2
Four Buddhist Councils were held at the | 105. =T =g wifeai Fraferfaa wmi w = g o |
following places. Arrange them in correct %% Hel PICEHIAR HH | saafeq $ifg g
chronological order and select the correct f= feu T FeE A "8 IW gﬁq |
answer from the code given below. 1. Fmreh

1. Vaishali R 2. TAE El'g.'i:l'.;].

2. Rajagriha b 3 *'E‘i:‘?f

3. Kundalvana ~ < < eI =

: LN N 4. R

4, Pataliputra N
Code : - %
(a 1,2,4,3 (b) 2,1, 3,4 ! (@) 1,2,4,3 (b) 2,1,3,4

(c) 2,1,4,3¢ (d 1,2,3,4 () 2,1,4,3 @ 1,2,3,4

182y Tt
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107.

WiE

T8

108,

24

7

e ot Bt B B S 00 e s

-ia;tch List - I with List - II and choose the
correct answer using the code given below

the lists.
List - I
(Nuclear Power
Plant)
A. Kudankulam

B. Kakrapar

D. Rawatbhata
Code :
A
(a) 4
(b) 2
(c) 2
(d) 4

NS J SN A e I s ¢
W= W=
= Wwe=Wwg

List _-_-'tn
(State)

1. Karnataka
2. Tamil Nadu
C. Kaiga 3.
4

Rajasthan

. Gujarat

Who among the following had won the
International Booker Prize in 2025 ?

1. Banu Mushtaq
2. Deepa Bhasthi

%€ 3. Sanjay Chauhan

I

Select the correct answer frbyrn' the code

given below : 0y
Code : 0
(@ 1and 2 (b) Only 3
(c) 2and 3 (d) Only 1

Match List — I with List — II and choose the
correct answer using the code given below
the lists. -,

List - II

List -1 Li
(Iron-ore Mines) :‘._(_State)
A. Gurumahisani 1. Uharkhand
B. Bailadila 2. Karnataka
C. Noamundi 3. Odisha
D. Kudremukh 4. Chhattisgarh
N
Code : -
A B C D \
@3 4 2 1 4
4 3 1 2 (
€4 3 2 1
b3 4 1 2

CIZU-1-23
| 106. ‘Q\Eﬂ = lzﬁ'{ﬁﬁ -1 %‘%%ﬁéﬁ{%
T -1 ot - 11
() ) DA
A. FEFET | w0
B. SRR 2, AferTg
C. &m o
D. & 4. TR
e
A B C D
@4 2 1 3
)2 4 3 1
)2 4 1 3
(d 4 2 3 1
107. Ta=faiaa § & fFaa 2025 F sfauisdia o g
Sftar & 7
1. ST H¥dT
2. g weht
3. 9 9igH
A fow e e @ wE I P
Fe:
(a) 13 2 (b) ¥ 3
(c) 2 3R 3 (d) Faer-1
108, - 118 - 18 e P o e
: ﬁmm@wmﬁaﬁmgﬁql
-’%'E T - 1 et - 11
(Fe-smmEam) (o)
A. TERTEER 1. TrEve
B. swmieen 2. FAlTH
C. I 3. e
D. Fs4d 4, e
E T
A B C D
(@3 4 2 1
b)4 3 1 2
4 3 2 1

GET IT ON

Google Play
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Alliance’, which of the following |

statements is/are correct ?

1. Itis the first treaty based ;.
Inter-governmental organisation
headquartered in India with’

38 member countries. ad

2. World Solar Bank and Oné Sun
One World One Grid Initiative were
initiated under it.

Select the correct answer using the code

given below :

Code :

(a) Only 2

(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 1.7 !
|

Joint special forces exercise 'K'HANJAR—XII'
was held in March 2025 between India and
which of the following Countries ?
[EE 1. Russia o
EE;%' 2. Turkmenistan =

3. Kyrgyzstan
4. Mongolia
Select the correct answer from the code
given below : NI
Code : L)
(a) 2and 3
(c) Only 3+
Which of the following Department
prepares the National Indicator
Framework Progress Report related to
Sustainable Development Goals in

Uttar Pradesh ? )

1. Department of Finance

2. Department of Education j.

3. Department of Planning -,

Select the correct answer from the code

given below : i J

Code : (1)
(a) 1 and 2 (b) Only 37y

(c) 1and 3 (d) Only 1.

With reference to Isotopes’, which of the
following statements is/are co'rrect ?

1. Atoms with identical atomic numbers
but different atomic mass jpumbers
are known as isotopes. ("

2. Protium, Deuterium and ’Il‘nltlum are
isotopes of carbon. )

t the correct answer fromz_the code

110.

(b) 3 and 4
(@) only 1,

111.

112.

|
Selec A '
given below : Lo :
Code : o '
(a) Only 2 (b) Neither 1 nor 2 :
1

(c) Both 1 and 2 «() Only 1

" - " - o — — —— -

109. With reference to International Solar 110

110.

111.

GET IT ON
Google Play

CIZU-1 - 93

9. ‘sieieita A T’ wey § Pt & g

PH-T1/8 FoF aE 2/E 7
1. =@ ween |y snuTia s-aETd wme

Rt g vwd # 2 3 3 38 TeE
e |

0. faza @i % s T A TS = g h
uEel 35 If=arid T 7 |

419 fu M e A T I AT :

e

(a) e 2 (b) AT 17 & 2

(0 13 23F  (d) F 1

7 2025 # HgE fw @@ @ G X

T ait Frefertaa 3 @ e & 6 e smta

fepa ma o 7 -

1. =7

2, g E“-é

3. ferfifsrear

4. TiferEn

A fow e e @ w6 IR I

Fel

(a) 23R 3 (b) 3 3f 4

(c) e 3 (d) et 1

Freffaa 1 & B-a1/& v @ wew § Faq

frepre el @ Haft T G g s Rt
FIR FA R ?

1. feom fewm
2, e fawm
3, e fawm
$ fi o e § W I IR :
Fe:
(8) 132 (b) et 3
(¢ 133 (d) e 1
| gt (ameEem) ¥ e °, Pefafed § &

F-T1/8 U GE R/R ?

1. G W T T T T N
TS TN h AT FEd § |

2. Weem, sepefm 3 f2feam wmea &
FReTS § |

R fw e e @ wE I IR

CTE

(a) Had 2

() 1 3R 2 <A

(b) AWM 1R 2
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15— Match List =1 with List - Il and choos.e the
correct answer using the code given below

the lists. '
List - I List - I1
(Schedule) (Subject)

—

A. 71 Schedule . Languages
B. 8™ Schedule 2. Disqualification

E]Si_m on ground of
‘.I‘ -i defection
i3 c. oth Sche_dule 3. Union, State and

Concurrent lists
D. 10" Schedule 4. Validation of
certain Acts/

Regulations
Code : e
A B C D
@3 1 2 4 -
M3 1 4 2
(c) 2 3 4 1
(d) 4 2 1 3

114. Which of the following sites were obtained
by the British East India Company under
the Treaty of Sugauli in 18167
1. Kathmandu :
2. Shimla il
3. Ranikhet
4. Nainital
Select the correct answer from the code
given below : ")
Code : -
(a) 1 and 2 (b) Only 3 and 4
' ) 2,3 and 4 (d) Only-1

II5. “Swavalambini”, a women entrepreneurship
programme for the North-East is .launched
by which of the following ministries ?

1. Ministry of Skill Development and

Entrepreneurship )

2. Ministry of Women and Child
Development .

3. Ministry of Micro, Small and Medium
Enterprises e

Select thr;pcorrect answer from the code

given below : ek

Code : Co

(a) 1and?2 (b) Only 3™

—_ € 2and 3 (d) Only 1

-

GET IT ON
Google Play

CIZU-1-23
| 113, T — 1 gt - 11 @ gfer il o g
E & 19 fm M e 1 M A w g gh )
-1 gt - 11 .
|
| () ey B
! A. 7 g 1. w91 ik
% B. 8 ff a1 2. THEGH IR |
i I
! C. 9 df argg=h 3. T, T 31K
{ D. 10 st 4. o sfufrmt aik
E fafrt %1 gemm
.
; A B C D
! @3 1 2 4
M3 1 4 2
©2 3 4 1
d4 2 1 3
114. fr=fafes & @ F9-d 972 1816 H gritedt
wfy & dea fafen S 3o soft gy i
s off ?
1. FIEHIG,
2. famen
3. THREd
4, I
oe
(a) 132 (b) s 3 31 4

|
i

2

| (c) 2,3 3 4 (d) e 1

i

| 115 a3 fore wfen st S Cw@mEEtE
: A a e gu gs frrmn 2 7
}E_mLﬁmﬁmaﬂt:ﬁlﬁmﬁm

| =% . -

| etk o [fge vd 9 9w wEeE

gm?«ﬁ w .

! 3. q&H, Y 3R Heaw W WAed

i
i
|
I
|
f
|
)

frar fow e e & e I g
+e
(a) 132 (b) %ee 3

- S ———
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@5

=75

117.

118.

1109.

Wh1ch of the fo!lomng rivers fajl into lht.
Arabian Sea ?

1. Periyar

2. Pennar

3. Palar y

Select the correct answer from the code
given below :

Code :
(a) Only 1 (b) Only 3¢
(c) 2and 3 (d) 1and?2

Arrange the following electromagnetic
radiations in decreasing order of their
frequencies.

1. Gamma rays

2. Ultraviolet rays

3. Radio waves

4. X-rays

Select the correct answer from the code
given below :

Code :
() 1,4,3,2 (b) 4,1,2,3
() 1,4,2,3 d) 4,1,3,2

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Food secunty is necessary
even in surplus food production years.
Reason (R) : Starvation can still occur
due to unequal distribution and lack of
accessibility.

Select the correct answer from the code
given below :

Code : )

(a) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true'and (R) is the
correct explanation of (A) o

With reference to ‘Vice-President of India’,
which of the following statements 1s/are

correct ?

1. The Vice-President is the ex-officio
Chairman of the Rajya Sabha.

2. Vice-President is a member of the
Rajya Sabha.

Select the correct answer from the code

given below :

Code : p
(a) Bothland2 (b) Ne:ther 1 nor 2
(c) Only2 (dj Only le

117.

118.

GET IT ON
Google Play

CIZU-1 - 9

16, et i @ BH-E 0 3 AR G fred 3

1. 9fEr :

[=]# (=]
2. ﬁ';m -:-;'E:-‘I'
3. 9R [eli
A R o e A 7h I AT

e
(a) T 1 (b) et 3
(d) 132

(c) 23M 3

fraferfiaa freagmrdia fafeon 0 376t
et o ged 30 H e HiR |
1. wm femoi

2. T ferl

3. e o

4, X-feptat
ﬁﬁqw@ﬁﬂﬁmﬂﬁq:

Hc:

(a) 1,4, 3,2
€) 1,4,2,3

F2 Qe few e &, formd & w R ()
qAT AL 1 HRVT (R) FaT TR |
SHHAA (A) : @TT GRaq, R e IeeA aw

(b) 4,1,2,3
(d) 4,1, 3,2

%E']ﬁsﬂaaﬁm%r

=17

=
-
\o

TR (R) : A frawon 3 gin/wde & 9t

B % Hror @A andt off 8 gt 8 |

Hr=r feu e % & TE W g

e :

(a) (A) 3 (R) 3T =& &, frg (R), (A) B T
T TE BT B

(b) (A) 7T €, formg (R) Wl R

(c) (A) W&l 2, fFg (R) TToa B

(d) (A) 3R (R) i Tt & 3R (R), (A) T T
ST T &

I & I9-Tgafa’ & aed § Fafofias § &
HH-T1/8 FoH T8 3/F 7

1. 39-Tgufd, U= w91 & wem wrafa B @ |
2. 39-Tsgaid TST W91 % Hewg B § |

A fow e e @ Wl 3w g

T2

(a) .1 3R 2 < (b) I8 178 2
(c)_?‘maz {d)%ﬁﬁl
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GlVe“ below are two statements, one is

12 | gbelled as Assertion (A) and the other as
Reason (R). D)

ertion (A) : India’s success is critical

for the global success of Sustainable
Developmﬁnt Goals. )

?@}t Reason (R) : India accounts for ‘nearly
one-sixth of the total world population.

gelect the correct answer from the code

given below :

Code @

(@) Both (A) and (R) are true, but (R) is
not the correct explanatlon of (A)

(b) (A)is false, but (R) is true’.

[c) (A) is true, but (R) is false \'?5,:

(d) Both (A) and (R) are true and [R} is the

R | o U P e - " S

GET IT ON
Google Play

CIZU-1-23
| 120. M wRRrmE, ﬁf:rfiﬁqma?raﬁﬁﬁm (A)
AT GA I FAV (R) FEl TR |
aftrererm (A) : e feremra @el 6 A awerd
% fore wra 6 Toerar qEe 2 |
FRO1(R) : 9T A feva =Y gper STt s T
ool fewn Fam @ € |
ﬁ%@ﬂ%ﬁaﬁmgﬁu:l
T
(a) (A) 3T (R) i wdt &, fpg (R), (A) A1 T

ST TET T 2

(b) (A) T B, fF (R) W 2
(c) (A) W& B, T (R) Terd @
(d) (&) 3R (R) 3 vl § 3 (R), (A) F &

correct explanation of (A); ST T R
j21. Match List - I with List — II and select the | 121. ¥ - 1% T - 11§ gafer Hife qan g
correct answer using the code given below M Rem T H TN TR EE I gAY |
the lists.
| List - I List - IT el - 1 T -1
! (Ruler) (Dynasty) (9ER) (W) .
A. Mahendraverman 1. RaShtrakuta A. TR yUH 1. TgES %g
First M ; iof
B. 33§‘i|:| 2. Yoeold
B. Kadungon 2: Pa].lava I — !
C. Amoghavarsha 3. Chola & 3, W
First D. TS 9] 4. uTes
D. Rajaraja First 4, Pandya Fe:
Cod: : A B C D
a4 '23 g Il’ N | @4 2 3 1
' G
i b2 4 1 3 = : b2 4 1 3
©2 4 3 1 | (CTRORY Nkl
@4 2 1 3 ! @4 2.1.3
@8 |
| " The Appiko Movement is associated with I 122. 3‘% 31@?17-{ o 3 @ o s i
. Which of the following Indian States ? } 3§ galud 8/8 ¢
L. Uttarakhand j 1. ITCEE
2. Uttar Pradesh ’ ElgE] 2. WW
3. Kerala : %
gy i E]i‘
4. Karnataka L.} i 4 q;.ﬁﬁ
Select the correct answer from the code :
given below f: i :ﬂ%ﬁﬂ T 2§ HE I gﬁq :
Code . { " } He: 3ﬂ-{
(@) 1ang o (b} Only 4 : {a) 1 i 2 (b) et 4
.9 3and 4. @onyl 1 @34 (d @

11
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123. Pradhan Mantn Mud ra Yojana comes under
which of the following ?

1. Ministry of Corporate Affairs

2. Ministry of Rural Dcvelopment

3. Ministry of Finance |

Select the correct answer from the code
given below : :
Code :

(a) 1 and 2
(c) 2 and 3

(b) Only 3+
(d) Only 1 ]‘

Consider the following Election Reforms
in India and arrange them in correct

chronological order startmg from earliest |
to the last. i

1. Voters photo identity card

2. Electronic voting machine

3. Voter verifiable paper audit trail

4, NOTA

Select the correct answer from the code
given below : I _‘..:

Code : <)

(@ 2,1,3,4
(€) 1,2,3,4,

124.

(b}lé 4,3
d) 2,1,4,3

Given below are two statements, one is
labelled as Assertion (A} and the other as
Reason (R). —

Assertion (A) : Evaporatwn of sweat from

125.

[=]
human skin dissipates body heat. B

Reason (R) : High humldlty on a hot day
increases discomfort. —t
Select the correct answer from the code

given below : ‘
Code : ) |
(a) Both (A) and (R) are wicbut Ris |

not the correct explanation of (A)
(b) (A) is false, but (R) is trues '
(c) (A) is true, but (R) is false l
(d) Both (A) and (R) are true and (R) is the |

correct explanation of (A) :

124.

GET IT ON
Google Play

CIZU-1 - 23

o e A Pt # 8 s s

a8 7
1. HTdfte w1 wEe
2. o frerma HATCE

3, foa wamerd

A1) fau e g @ wE I A :

Fe:

(a) 132 (b) el 3

() 233 (d) o 1

e 1 Breferfas e gand = frEn S
7o 35 W YRRl @ S anfEdt @ % HE
FTHEITER 39§ ST HIRT |

1. WK Hiel T A E]E]

2. eIt aifen wefH

3. et AffRuEe A9t Aifee 2

4, A

i fow g e A wE IW A :

FT:

(@) 2,1,3,4 (b) 1,2, 4,3

() 1,2,3,4 d) 2,1,4,3

3 @ e fau e 8, Rl ww A i (A)

AYT gAY ! HR (R) FHEl T |
sifSrRer (A) ; BTG T § THIA T arsd et

] orérc <6y off oY e b B R |

WHROT (R) : T oA ® 3=9 ma & Wy /g
STt 2 |

= for 1T He /@ "/ IW A

Fe:

() (A) 3R (R) 3T =& &, B (R), (&) 1 &
AT T HAT B

(b) (A) T 2, FFed (R) ®& 2

(c) (A)w& B, fFg (R) T B

(d) (A) 3 (R) SHT &t & 3R (R), (A) N &
T T 8
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| 126. 3T gfm wedm % for sitrers

CIZU-1-23

“Waie’ Preaffag § & fewes g fawfia

; i ational Police Co-operation has been :
é‘; veloped by which of the following ? i o
1 Central Bureau of Investigation I R E
5. Research and Analysis Wing | 1. i S =g EE
3' jntelligence Bureau .- f 2. IFFHYH 3R fegergor fam EIL r?fi’
4: Enforcement Directorate } 3. I = '
clect the correct answer from the code | 4. vadq Fesre
given below : l Hr fow e gz @ 7 I ghT
Code : i C T4 \y
(a) 2and 3 (b) 3 and 4 | (a) 23K 3 (b) 33 4
(c) Only 3 & (d) Only 1 | (c) ¥ae 3 (d) Fae 1
Consider the fc:llc;lwdng fven;sf andd arrange ! 127. Frefafas vemait w feem Hifag qu 5% @@
them in correct chronological order. 3 wafem S
1. Acquisition of Awadh by the British | L v i qu o '
«=1 9. [Ibert Bill Controversy i 7 L
g’?&' 3. Indigo Revolt r 2. v fam ferare,
4. Second Anglo-Afghan War 3. | ﬁ@'ﬁ
Select the correct answer from the code 4. fodta wel-aTH I8
given below : 2 o me % & wd swm gh
Code : P +e:
fa) 1,3,4,2 ¢ (b) 3,1,2, 4 (a) 1,3,4,2 (b) 3,1,2,4
() 3,1,4,2 (d) 1,3,2,4 (€ 3,1,4,2 d 1,3,2,4
As per the One District One P@Loduct (ODOP) | 128. I ¥ i T et w Iaure (3. . 3. 61.)
scheme of Uttar Pradesh, Moonj products AT % FAER, 4 I Prafafas § 4 fra
are associated with which of the following it & TahE 2 7
districts ?
1. Amethi 1.
2. Sultanpur 2. FeaHE
3. Sant Kabir Nagar - ! 3. §d HER TR
Select the correct answer from the code #i9 fou @ F¢ A & IW I ;
given below : ) I |
Code : wols f e
@ 1and 3 (b) Only 3 # ; (a) 13f3 (b) ¥ 3
() 2and 3 (d) 1and 2 ! (c) 233 (d) 132
e
s [ _ ;

- Which of the following Programmes/ l' 129. F=fafea & & sH-1/4 W/ﬂ"l?r\m, T
Schemes is/are NOT included in meeting firen ifd 2020 & I F W FH F e
the objectives of National Education Policy Il e
2020 7 % |EeE 1. 3
1. ULLAS — | b 5 &

2. DIKSHA i =] # ‘ i

3. Bharat Nirman Programme | 3. Favior PR

Select the correct answer from the code ¢ - i foq 7Y Fe el 3w ghi

g“'en below : - : Re:

_[aJOdIe: i (b) 0n1y 3 il (a) 1 ﬁ 2 (b) aet 3

an,

c) 1 3 Had

_[g}__l and 3 (@onyl _ ( .,)__..,,...,..__..___..@._..,___1_. -

e e i S s st s e e ! 39 !
el Y ioni s sttty

GET IT ON
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130. Iron dome missile defence system belongs to : 130. 3w om frarga @ gonel FefafEa § 5 frm

.. 131. ‘ﬂ%ﬁmﬁqwg,ﬁﬂﬁ@ﬁﬁmm}
71 IR I HA (R) FET TR |

sifirmer (A) : TE9T 3 Afeenai 1 S
ST -3 Bt 8 |

131. Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R). !
Assertion (A) : Voices of men and women |

which of the following countries ? } mHe?
- g

1. Fra'.nce : 1. wg ,‘Eéé‘ﬁg]
2. United States of America | 2. T T4 3R Elfﬁ‘ﬁ
3. Israel : 3. T
Select the correct answer from the code ! . ﬂﬁq .
given below : : :ﬁ%ﬁ—qm@@ﬁm ’
Code : : ko
(2) 1and?2 Jb) Only 3 ! (a) 132 (b) et 3
(c) 2 and 3 (d) Only 1 | (c) 23 3 (d) 5 1

i

i

I

i

i

[

|

EZ’_‘E are different.
m?ﬁ Reason (R) : Length and thickness of HWO (R) @ GeNi 3 Afgensdli A dihed HE H
vocal cord is different in men and women. ; 3t q‘-raé ST 3T Eﬁ?ﬂ' % |
Select the correct answer from the code
given below : : A fow e e & A W I
Code : - Tz
(a) Both (A) and (R) are true, but (R) is (@) (A) 3 (R) <FT wdl £, fF (R), (A) T &&
not the correct explanation of (A) T e T 2
(b) (A) is false, but (R) is true (b) (A) e 2, T (R) 941 &
(c) (A)is true, but (R) is false (c) (A) T& 2, fig (R) TTeid 2

(d) Both (A) and (R) are true and (R) is the (d) (A) 3R (R) SHi @& & 3R (R), (A) T Fél
correct explanation of (A) , STET Tl 8
5 P32 ‘e faere gaeie’ & Ted | ffafea § &

HH2AT/H HUF TE 2/ 7
1. . @ €. 9. 7 1990 ¥ 01 vgell A

132. With reference to ‘Human Dev_glopment
Index’, which of the following statements |

is/are correct ?

1. The UNDP published its ﬁrst Human i : s g _
Development Report in 1990, which ; . EECIEREEIT
ESE  gEH® o |

had a Human Development Index.
2. The first team that developed the |
Human Development Index was led by |

2. e T gues fawfaa +0 ael e
AW T T AEIE-IA-Th AR TH. WETR A

§§l
1o ‘

Mahbub-ul-Haqg and S. Priesner. fpar |
Select the correct answer using thg code 4 feu - T gﬁrq :
given below : -~ i -
Code : £l = Re:
(a) Only 2 (b) Neither 1nor2 | (a) Faa 2 (b) AW 1782
(c) Bothland2 (d) Onlyl i (©) 1 3 2 Al %) Fae 1
j
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ol € the following pairs is/are NOT ' 133, Freferfaa 3 @ F-a /i gm o gn‘ﬁ*rﬂ =3
. Wi hed ?
I comrectly MRS T
1 National Voters - 25 Januar_y #
Day (Indlti'i) — M : E#E 1. U gagran feam (yma) - 25 Ecetil
_ Constitution - anuary)
> pay (India) 0 | WA 2 @R Rea (ma) - 27 S0
§; Human Rf(%hts = 29 Januery 3. AR feag (fpa) - 29 Fwad
Day (Wor.
i [ seject the correct answer from the code A fou ¢ e @ 3w ghv
E §¥ g“ren below : i w .
Code :
(a) 1and 2 (b) Only 3 (a) 132 (b) %aa 3
(c) 2and 32 (d) Onlyld/_-_l (c) 23 3 (d) ae 1
134 Consider the following and arrang'g ihem in | 134, f=fafga @ fem Hifse qur 372 98 RICThATIHT
correct chronological order. o 9 U eFaferd Hif |
1. Food for work programme . 1. W % e ;
2. Community Development Programme 2. 1 Prer FrerTa F
3. Training for Rural Youth for Self
Employment (TRYSEM) %] 3. W T % fore 3 st 1 sfrer
4. Drought Prone Area Programrjr’_l_ci COR
Select the correct answer from the code 4. @1 AU & sk
given below : . J F= g Mo gz & T I gfvc
Code : e F:
) 4,2,3,1 #) 2,4,1,3 (a) 4,2,3,1 (b) 2,4, 1,3
() 2,4,3,1 (d) 4,2,1,3 (© 2,4, 3,1 (d) 4,2, 1,3

. Who among the following resigned from the | 135. Fefafad & & fray sfemiaren am FATRIS o

Viceroy’s Executive Council, sadiiened by el B SRR 1 T gt § ST
the Jallianwala Bagh Massacre ?. < femen ?
@ L. Chettur Sankaran Nair 0 1. =g Rt AR
2 Ishwari Prasad 2, $val e
3. Muhammad Shafi 3. e IH
4. Igbal Narain Gurtu N ! 4. THATE TREY T
:iZl:;tbt:;s Wcc:rrect answer from the code A1 fow T 2 @ T I Tfru
Code ; 5 ) ' EasE
(a) 3 anis l (a) 233
®) Only 4 =) Bt el 4
9 3 ang 4 (c) 334
@ ony 5, (d) 3 1

. I
1 -— — ——
e S ———
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136. With reference to the New Pamban Bridge,
which of the following statements is/are
correct ?

1. It was constructed by Rail Vikas
Nigam Limited, which is a ‘Navratna’
public sector unit under the Ministry
of Railways.

It is India's first vertical lift railway
sea bridge.

Select the correct answer from the code
given below :

Cade :

(a) Only 2 (b) Neither 1 nor 2

(c) Bothl1and2 (d) Only 1

Given below are two statements, one is

labelled as Assertion (A) and the other as

Reason (R). '

Assertion (A) : Consumers can bargain

below Maximum Retail Price (MRP).

Reason (R) : MRP is a price a seller must

charge from the buyer.

Select the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true

(c) (A)is true, but (R} is false »

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
i
137. i
|
|
1
|
I

Suez canal connects which of the following ?
1. Atlantic Ocean

2. Red Sea
3. Mediterranean Sea

138.

T
4. Indian Ocean ;'3_
Select the correct answer from the code
given below : D
Code : LAJ
(a) 1and 3 (b) 3 and 4
(c) 2 and 3e (d) 1and?2

With reference to Lifestyle for the
Environment (LiFE}, which of the
following statements is/are correct ?

1. It was launched in June 2022.

2, Its idea was proposed at the COP 25 in

Madrid, Spain. 09,

Select the correct answer
given below :
Code :

(a) Only 2

(c) Both 1 and 2

139.

from the code

(b) Neither 1 nor 2
(d) Only 1

o i e e

ﬁ (wm. AT

EI%EI
mr
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(c) 1 3 2 g (d) F7 1
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137.

r

"% /AUl (R)

St B aHe A

#r feu 0 FE H

E () 3 (R) &t 7@ &, F7 (R), () F1 7
FTEAl TE F 2

(b) (A)naﬁ%,ﬁﬁﬂmmﬁt%

(c) (A) ¥ 2, Frg (R) oM 2 )

(d) (A) F (R) &1 &l 2 #AI (R), (A) 1 7
ST FT 8

T T Fretferfaa § @ fee Siedi @ 7

1. 3redlics HeErR

2. @ AT

3. AT A

4. fgg mRTETR

= fam e e & A I A :

138.

Fe: )
(a) 133 (b) 3 3R 4

(c) 233 (d) 13fT2
ATRHEISS HH @ THARHE (eIT5%) & HeH |
St § & SH-a1/3 %9 T 2/ 7
1. T8 3@ 2022 & @t feham 0 AT |

2. zu% faem ) #fge, € § F1H 25 1
edTiad feRan T A |
ﬁqmﬁﬁﬂﬁmgﬁt{
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=
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1.

e

2~ yith reference to World Bank and
mational Monetary Fund, which of the
ollowing statements is/are correct ?
The World Bank and International
Monetary Fund were set up together
and are popularly known as
| Wood Twins.

| 2, Headquarters o

as’ Bretton

f Intemaﬁonél Monetary

Fund and World Bank are located
at Washington D.C. and New York

respectively.
select the correct answer from the code
given below : ™
Code : 1%
(a) Only 2 (b) Neither 1 nor 2

(c) Both 1 and 2

|1, With reference to the ‘Joint Slttmg o
parliament’, which of the following

(d) Only 1,

statements is/are correct ?

1. Article 109 of the Constitution of
India provides for the Joint

Parliament.

2. A Joint Sitting of Parliamen

be called to pass a Constitution
| Amendment Bill. L\
Select the correct answer from the code

given below :

Code :

(a) Both 1 and 2

(c) Only
|

2

42. Match List - I with List - II and select the

correct answer from the code given below

the lists.

e
;?E List - 1
UM (Sustainable

Development Goals)

A, Goal

B. Goal
C. Goal

D. Goal

Code ;

A

(@) 4

®) 3

) 3

. g

1

3
4

6

CIZU-1-23

140. R % 3ik sieieda T 9 e A
Frerfefen & & #-m/8 wow wd /8 7
1. fava &% st ailfa qgr g B T
EEE o A R ok 5% et w9 4 el 98
§§$ gt el W R |
2. FA( gz1 iy 3R fowa & 51 G&ATH
;. afie . s gt i e B |

F:
(a) HaeT 2 (b) A 198 2
(c) 13K 2gH (d) a1

141, Fae F SR dow % o § Frefefea 7 @
F-T1/8 A TE /2 ?

0L . 1. YA & ®iaum &1 Agese 109 §6g
as-{ftmgof !E.I' ;  gH A9 1 WEYH Al 2 |
tmay | P i i ftes ) i w0 ¥ e
'. TE I GLF A3 IMET HI T Gl 8 |
@: Y ~
(b) Neither 1 nor 2 @ 1323 (o) IH1AA2
{¢f Only 1 (c) e 2 (d) Fad 1
. 142, g - 1 g - 118 gafera i a2 g <
f2 fow U H2 ¥ wE IW I |
9 | Tl -1 el - 11
List - 11 : (e forehre w16 (e = 8)
(areaiofgodt) -, | A @& 1 . @D W i
Cl t r and : R
e an walte
sa;itatjon : B. @&l 3 . Tt feq
. Quality education | C. @& 4 . T % @l w1
. To end poverty in | el S
all forms ! D. @I 6 . 3701 W 3K
s Good health and | —
well—beir.l'g. : @
) | A B C D
» * @4 3 1 2
26 |
{ b3 4 2 1
; i (c) 3 4 1 2
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143. With reference to ‘Operation Olivia', which i 143. Hy

F-a /8 U WE R/ 7
1. q-gaﬁfz-mzsaamm%af@éwﬁﬁ

of the following statements is/are correct ? |

(c) Both1and2 (d) Only 1
144, Frefafe & FA-91/8 I9 98 gAfom wg 3
(ararefir fwd) (=)

144. Which of the following pairs is/are NOT
correctly matched ? :

1. It is an initiative of Indian coast * ) 5 ~ 3
Guards to protect Olive Ridley turtles i qE + fee HE T@ RalE Rk
. along the coast of Odisha. | 0. FTEA A S B A T vy
. Operation Olivia is carried out during | J—— 2 1 3nfea fee Fa35 3
the month of August which is the } o $ Eq T9E AR | S
nesting time of Olive Ridley turtles. i S
Select the correct answer from the code | #3 fw g 2 & wE I g ;
given below : | qe:
Codgril _ . ; (a) Had 2 (b) A A 17% o
(a) Only 2+ (b) Neither 1 nor | () 132 2 (d) a1
|
|
i
:‘
!'
|
i
i

B (Biosphere State) EEE L e — =g
E‘%% Reserve) ‘ j l‘.’%& L.
@I 1. Nokrek — Manipur EHE 2. w7 L
2. Manas — Assam IREATATS = '
3. Agasthyamalai — Kerala - S
Select the correct answer from the code e fog T e ¥ el IW ﬁﬁm :
given below : Fe:
Code : | =
(@) 1and?2 (b) Only3 (a) 13M2 () “SEES
(c) 2 and 3 (d) Only1 . (c) 233 (d) %I 1
145. With reference to Global Environment 145. afvas g giaen & ged ¥ Fefated 5 3
Facility, which of the following statements HH-91/4 U T B/ ?
is/are correct ? R c .
1. It was established in 1991. 1. 39l TG 1991ﬁ§2ﬂ |
2. Only the developed countries are 2. hao fasitd <o € 39 @ E0) 3 |
donors to it.
Select the correct answer from the code 41 fou e e & wd W g
given below : o Fe:
Code : 5 . R
(a) Only 2 (b) Neither I-nor 2 (a) et 2 (b) I 1782

(c) Both1land2 (d) Only 1

(c) 13 23 (d) Fae 1

146, F12 1 e fow e ¥, o o 1 o @
T TH H F (R) Fal T2 |
(A) : ITYMF HArFaites T H
important for economic, social and political ! E?_.}_EI e, g 3k qadifie sl 7q fie=
functions in a Modern Democratic State. | &% fazmg e # |
Reason (R) : The core objectives of Directive Elr‘\'# FWN(R) : SR 3k &

146. Given below are two statements; one is
labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) : Directive Principles are

Principles is to establish economic and

social democracy. . gm FE & ey frgrdt w1 g kol
Select the correct answer from the code .

given below : RS, ﬁ_ﬁqmﬁﬁﬂ‘é’rmgiﬁq :

Code : L

(a')J ]goth (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A)is false,tt)mtt(gl .isft;lue

(c) (A)is true, bu 1s false

(d) Both (A) and (R) are true and (R) is the (©) (&) 78 R, freg (R) rora 2 -
correct explanation of (A), (d) (A) 3% (R) a:ﬁ & € 3k (R), (A) #H

e e e e e ‘-j---;.._, . Wm% 5

@) (8) 3 (R) i wdl &, formg (R), AT
ST TE e 3
(b) (&) 7ot #, forg (R) T 2
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amﬂng the fo]lowmg mtroduced the
Oncept of entitlements in food security ?
M. S. Swaminathan | -
2, Atul Pranay )
3. Samali Srikant .
4. Amartya Sen D)
gelect the correct answer from the code

given below : 00
Code : e
(a) 1and 2 (b) Only 4
(c) 3and 4 (d) Only 15

with reference to Jnanpith Award, which of
the following statements is/are correct ?

1. The 58" Jnanpith Award was
conferred upon Sanskrit Scholar
Jagadguru Rambhadracharya Ji.

2. The 1%t Jnanpith Award’ was given in
1965.

Select the correct answer from the code

given below :

Code :

(a) Only 2 (b) Neither 1 nor 2
(c) Both 1 and 2

(d) Only/1
Arrange the following in chrtlmplogical order
of their rule and select the CQﬁect answer
from the code given below. (7

1. Bajirao I -

2. Balaji Bajirao

3. Balaji Vishwanath

4. Madhav Rao 1 D)
Code : -
(@) 1,3,2,4 (b) 3,1,4,2
) 3,1,2,4, (d) 1,3:4,2

Which of the following pairs is/are correctly

147

148,

149,

CIZU-1-23

ﬁnﬁ-ﬁ@aﬁﬁﬁs&%ﬁmmg{mﬁﬁwﬁ
YT FEaried 4 md 2 7

1. T, UH, WY %

2. IS WA

3. Wl e R

4, 39 8

Fe:
(b) T 4

(@) 13fit2
(c) 33 4 (d) Faa 1

wrfie geerr & gef # frafafaa 3 &
RI-|1/8 H T 2/E 7
1. 58 af 73 JWhR Hehd fagM wmge

TmygTear St i agE e T |
2. UgeN WIS JWRR 1965 | fear mam o |
e fu e e & wE 3w AT
EWQ (b) TA1AE 2
(c) 1323 (d) et 1
frafafaa =t 37 A % Freapagan w9 °
Sxafea hifere @en i feu T Fe & gd W
M |
1. 9iTE 1
2. ETETH AR
3. @t fagamy
4, HYg T4 |
we:
(@ 1,3,2,4 (b) 3,1, 4,2
(€ 3,1,2,4 (d) 1,3,4,2

150. Fefefed # & SH-a1/8 W wd gifem 2/3 7

|
|
|
|
|
|
|
i
(Railway Zone) (Headquarter) | P ()
1. Northern Railway ~ — . New Delhi | 1. IW Rl
2. North Eastern - Gorakhpur i EHE 2. SRl o™ - TRER
Railwa S ’!"ii‘;’
3. South )éastem = Cuttack ! [=] ﬁ‘f 3. i e - wew
Railway | F fow e g2 @ wd I gf
Select the correct answer from the code | ) & '
given below : : %
((;ng I Only 3 ' ) Laf2 (o) e 3
nly 1 and 2 b y |
Onlg 2 and 3 {di Only & | (c) %A 2 3t 3 (d) et 1
“‘-—-—-__._..._n._.._,*__—--———-“i*';'g; __________________________________
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